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) Match the fraction

with the definition.

2 b 1
a. - b. 3 c. 17
d 8 e. L f. L

S © B 4

2. Write an equivalent fraction for:

a 1% b. 3% c. 4%
4
d. 63 e. 23 f.2%

3. Add up the following, write it as a mixed number and simplify if necessary.

- 5 divided by 3 is
1 remainder 2.

Example:

i
3

1l
WO WInN

1l
WIN

1 92 98 14 98
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7 5 5 3 5 6
d. 0+ 70 = e. ¢+ 3% = f.7+ 9 =
4. Calculate and simplify if necessary.

Example: :
1 1L
2 *t 3
Where does the
= % - 6 come from? '

1 1 1 1 1, 1 _
a. 7+ 7 = b. T+ 170 = C.3+% =

1 1 1, 1 11
d. g+ 7%= e. 5+ 4 = f.2+3 =

® 5. Calculate and simplify.
Examples: 3,3
2+% 4 2
_ 3 6
=3+ % =i+d
_ 1z ) _2
=% How did we get l = 4
s this mixed number2 ]
:2Z =QZ
1 _ & o A o 1 _
C].]"‘Q— b.2+4— C.24+8—
d. 47 -3% = e. 2+ +1% = f.72-1%

Activity

Add up any proper, improper and mixed numbers with different denominators.

18 918 17 15 18




Let us multiply Identify the and then the We first multiply

fractions: numerators: denominators: the numerators
1 @x@_ o1 and then the
2% 4= 2 % 4= @ x®= denominators.

- L
- 8

1. Calculate.

A Can we simply Factors of 30 ={1, 2, 3, 5@ 10,15, 30}
- this fraction?

= 75 The largest common
‘22 Factors of 42 = {] , 2, 3,@ 7,14, 21, 42} factor gf two or more
=7 HCF (Highest Common Factor): 6 Hgﬁ,@ﬁ%;‘;?;’ﬁﬁ‘ijﬂi;,
(HCF) also called the
\ Greatest Common
. 9 5 . . 3 Factor (GCF).
Q. 57 X 3= b. * X3 = C. ¢X 7=

®
Examples x 5 1 9 9 3 & 9
A 3 X 4 =712 2 X 6 =12
T X T =12
O_x_:% b_x_:% C_X_:%

3. Calculate the following:

1
Example: 8 x 4

12 18 14 918
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4. Which whole number and fraction will give you the following answer?

Example: _ x__ =%

2 1

TX 73

:2xé—

— 4 = 2 =3
Q. _*X_=% b. _x_ =75 C. __X_=3

6. Multiply and simplify.

Example: %

é
38
3 )
=33 HCF|52'

Activity

What fraction is four What fraction is 5 days What fraction is 12
months of 10 years? of seven weeks? minutes of an hour?

98 18 17 18 99
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37% - 3 ]2-24
_ %, 5 1 ¢ _3.09
=\%x% _]X\S\ =7 X T =%x% =5 +7
. =3 (simpify) = _ s =3 x4
= 1
=21 2
22 =3 =3
1. Calculate.
Example: 2+
2, 4
=]—X§
_ 8
=3
=2%
_ .7 = 12 _
a. 4+ %= b. 7+ &= c. 12+ %=
d. 9+ 5= e. 5+ %= f. 10+ B =

2. Calculate.

Example: See the second example in the infroduction.

o~

Q.3+ 4= b. 6+ %= c. 8+
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d 2<%= fL7+%= \ *I
3. Calculate.
Example: See the third and fourth example in the infroduction.
a. $+4= b. $+ 4= c. $+ %=
d §=4- o t+%= ol g
®
4. Calculate.
Example: See the fifth example in the introduction.
a. 13 +24= b. 15 +2%= c. 33 +4%=
d. 31+7L= e. 53 +2¢= f. 55 +3%=

Activity

Write an expression for twelve divided by a hundred and eight tenths. Simplify it.

Divide eight ninths by eighteen halves.

18 16 17 18 ¢
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1. Calculate.

Example: See the first example in the infroduction.

a. ()2 b. (%)

(D)Gr=2=% @(

(=)
S
I
SIS
®)

d. (%)2 e. (3)

— £ T 44
8 _— 2
3
c. (3
f.(2)

2. Revision: calculate.

a.\&

Example: See the third example in the introduction.

M 92 19 94

UE




® | L]

1YY YT YT vT vq

A A4 A4 A A4 M4
| | 2222

» 4
ol X

3. Calculate.

Example: See the second example in the infroduction.

6

a. (3)° b. (3)° c. (g)
d. (§)° e. (3) £ (3)°
4. Revision: calculate.
Example: See the fourth example in the infroduction.

3 3 3
a. \ix b. V& c. V&

®

d. V& e. V1 f. V5

Activity

What is the square root of sixteen squared divided by the square root of twenty—five?2
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F-rt@c‘nons dedimalsfand
f percen’rages

Look at each of the examples. Work through them and discuss.

What is 60% of R105? What percentage is 40c of R3,20?
60 ., R105 40, 100
100 % T I can write 20 % T %
60
_ 3 _RIOS 60% as igo- 40007
=5 X = 320 ~
000 o e i 120
:R3_15 \ 60, i 3 B 100 % 320 SImpilifiedlis g .
5 oo simplifiedis 70 = 5 =8

Calculate the percentage increase if | Calculate the percentage decrease if
the price of a bus ticket increases from | the price of petrol goes down from R10

R60 to R84. a litre to R9.
The amount of the increase is R24. The amount of the decrease is R1.
24 ., 100 % 1, 0%
0 X 0 X 7
% %
-4 -3 ®
= 40% =10%

1. Write the following as a fraction and then as a decimal fraction.

Example: 18%= & = & =0,18 " .
oo simplifiedis 5g. '

b. 25%

&l

91 12 18 14 18
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2. Write the following as fractions in their simplest form.

Simplest form 10

3. Calculate.

Example: 40% of R20

0 » R

N

N

2 5
ol

(=3

S O

(]

1l
O —

8

@ a. 20% of R24 b. 70% of R15 c. 60% of R95

d. 80% of R74 e. 30% of R?0 f. 50% of R65

continued &

18 48 47 16 98 20 29 22 723 24 28 25 25/ 25 20 3
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4. Calculate the percentage.

Example: 60c of R4,80
60 . 100
80 X T %

— 6000
T 480 7%

=%%

=12,5%

a. 30c of R1,80 b. 80c of R1,60 c. 40c of R8,40

d. 70c of R2,10 e. 50c of R7,00 f. 30c of R3,60

12 18 14 16
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5. Calculate the percentage increase. 4
a. R50 to R70 b. R80 to R120 c. R15toR18

d. R25to R30 e. R100 to R120 f. R36 to R54

6. Calculate the percentage decrease.
a. R20 of R15 b. R50 of R45 c. R18 of R15

d. R24 of R18 e. R90 of R80 f. R28 of R21

Problem solving

a. A shirf costs R175. | got 25% discount. How much did | pay for it?

b. Calculate the percentage decrease if the price of petrol goes down from R10,35 to R10,15 per lifre.

198 48 417 16 18 20 24
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Reliceniiageipreblems

When solving a problem you can go through the following steps:

Say: Underline the important information. Put the problem in your own
words.

Ask: Have | underlined the important information? Do | need more
information? What is the question? What am | looking fore

Check: That the information you marked is what is needed to answer
the question.

1. Solve the following.
a. Find 80,6% of 110. b. Whatis 5,2% of 292

c. What percentage is 36 of 822 d. What percentage is 13 of 1212

e. What percentage is 55 of 149¢ f. Whatis 86,6% of 44¢

10 99 192 18
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1 rq X
g. What percentage is 61 of 1162 h. 22,3% of a number is 123. 4
What is the number?

i. 57.1% of a certain numberis 115. What is the number?

j. What percentage is 143 of 1462 k. 81,8% of what number is 842

l. What percentage is 22 of 262

continued &

18 18 17 18 10 20 21 22 78 20 23 7 25 20 U
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A

2. Solve the following.

a. The original price of a shirt was R200. The price was then decreased by R150. What
is the percentage decrease of the price of this shirte

b. Mary earns a monthly salary of R12 000. She spends R2 800 per month on food.
What percentage of her monthly salary does she spend on food?

c. Calculate 60% of R105.

d. What percentage is 50c of R7,502

10 12 18 14 &
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4
e. Calculate the percentage increase if the price of a bus ticket is increased from

R75 to R100.

f. Calculate the percentage decrease if the price of pefrol goes down from R16,50
a litre to R15,75 per litre.

g. Calculate how much a car will cost if its original price of R150 000 is reduced by
15%.

Problem solving

Investigate using different amounts and percentages to find expressions leading to calculating a
percentage increase/decrease.

198 48 417 16 18 20 24



". decimals

Revise the place value of decimal fractions.

Pleiee Velluz, eieaiing] cine) c,ornpa%.ng |

How will you write this decimal fraction in expanded notation?
8,924=8+0,9+0,02+ 0,004

1. Write the following in expanded notation:

Example: 5,763
=5+0,7+0,06 + 0,003

a. 2,371 b. 6,215 C. 34,672
d. 8,076 e. 92.304 f. 8,004
®
9. 16,003 h. 19,020 i. 56,003
j. 900,009

2. Write down the place value of each digit in words.

Example: 5,872
= 5 units + 8 tenths + 7 hundredths + 2 thousandths

a. 3,378
b. 62914
c. 2,588
d
e
f

. 2,037
. 2,003
. 14,030

91 12 1%
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3. Wirite the following in the correct column. o "I

thousands | hundreds | tens | units tenths | hundredths | thousandths
2,869 2 |, 8 6 ?

24,328
18,003
376,02
8674.,5
2874,345
g. | 987,001
h. | 400,08
i. |2000,203

~|o|alo o]0

4. Write down the value of the underlined digit.

Example: 3,476
= 0,07 or 7 hundredths

a. 6,857 b. 4,37 c. 3.809

d. 8,949 e. 85,080 f. 34,004

5. Wirite the following in ascending order.

a. 0,04; 0,4; 0,004 L. 0,1;0,11;0,011 c. 0,99:0,9: 0,999
d. 0,753:0,8; 0,82 e. 0,67;0,007; 0,06 f. 0,899;0,98; 0,99
é. Filin<, >, =.

a. 0,4 0,04 . 0,05 0,005 c. 0,1 0,10
d. 0,62 0.26 e. 0,58 0.85 f. 0,37 0.73

Problem solving

What would you do to change this decimal fraction from 9,768 to 92,0082

18 416 97 16 10 20 29 22



Round off to the nearest unit.
3,7=4 5,62=6 7,321 =7
32=3 518=5 7,329 =7

Round off to the nearest tenth.
8,26 =8,3 3,765=3,8 5,293=5,3
8,21 =82 3,768=3,8 5,224 =52

Round off to the nearest hundredth.

3,472 = 3,47 8,925=8,93
3,478 = 3,48 7,342 =7,34
1. Whatis a ? Give an example of each.

a. Natural number

b. Tenth

c. Hundredth

d. Thousandth

2. What symbol can be used for rounding off?
3. Round off to the nearest natural number.

Examples: 6,Q=7 6,Q=6

a. 9,2 b. 4,5 c. 48
d. 6,4

10 99 12 18 194 U6
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g. 3,34
j. 100,383

4. Round off to the nearest tenth.
Example: 5,84 =5,8

a. 524 b. 353 _ c. 555
d. 939 _ e. 7513 f. 2,329

g 8632 h. 1,189 i 67631

j. 89789

5. Round off to the nearest hundredth.
Example: 8,950)= 8,96

a. 1,181 b. 2345 c. 86585
d. 7942 _ e. 5229 f. 3,494
% g. 4715 h. 8537 i. 59676
j. 8,6972
6. Round off to the nearest thousandth.
Example: 18,2579 = 18,258
a. 51272 b. 27864 c. 6,6628
d. 52336 __ e. 19813 f. 3,3336
9. 92.4581 h. 7,7857 ______ i. 7.8176

J. 8,6491

In everyday life, why do we round off decimal numberse Give five examples.



Can you remember how to write decimal fractions as common fractionse Look at
the following

° O,5=%
e 0,08=1%;
e 0,007 = &

We say seven-thousandths
s e g gy T Wesoyseven-ihousandins

1. Write as a decimal fraction.

., We say five—tenths

We say eight-hundredths

Example: -5
=0,06
a. & b. & C. %
d. % e. & f.
9. h. o . 1%
I == k. Use your calculator to convert between common ®

and decimal fractions.

2. Write as a decimal fraction.

- 73
Example: 72

=0,73
a. b. % c. &
d. 3 e. & f. 2%
9. % h. [
. & k. Use your calculator to convert between common

and decimal fractions.

3. Write as a decimal fraction.

. 1
Example: 2

T
=51

92
. 10
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d. ¥» e. & f. &2
9. % h. % L4
j. B k. Use your calculator to convert between common

and decimal fractions.

4. Write as a common fraction.

Example: 8,4

- 84

— 10
a. 82 b. 18,19 c. 7,654
d. 4,73 e. 48,003 f. 12,75
g. 3.4 h. 62,38 i. 376,5
j. 8,476

5. Write the following as a decimal fraction.

2 _ 4 _
Example: Z =4 =04
1 _ 4 _
2% = 700 = 0,04
a. L b. L c. L
3 2 1
d 5 e. = f 25
1 h 2 . =
g % + 25 20
40
l- %

Problem solving

If the tenths digit is six and the units digit is three, what should | do to get an answer of 7,6442

16 18 17 18 18 20 24
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Where in everyday life will you use decimal fractions?

Remember that

in South Africa we
mainly use a decimal
comma. Some
people use a decimal
point, which has the
same function as the
decimal comma.

Where in everyday life will we —

COcl [SUBHGEEN [RGB oocimo raciionss

1. Calculate.

Example: 2,37 +4,53-3,88
=(2+4-3)+(0,3+0,5-0,8) + (0,07 + 0,03 -0,08)

=3+0+0,02
= 3,02
a. 2,15+821-7,21 = . 534 +7,42-6,38 =
®
c. 429 +834-3,38 = d. 977 +5,14-9,53 =

2. Calculate.

Example: 0,2x0,3 0,02x0,3 0,02 x 0,03
=0,06 = 0,006 =0,0006
a. 0,3x0,4= b. 0,56x0,1= c. 0,7x08=

e. 0,04x0,02 =

10 99 12 18



3. Calculate.

Example: 0,2x 10
=2

a. 0,7x8=
d. 0,03 x 8=

4. Calculate.

Example: 0,3x 0,2 x 100
=0,06 x 100
=6

a. 0,3x0,6x10=

d. 0,8 x0,04 x 100 =

5. Calculate.
Example: 5,276 x 30

& = (5 x 30) + (0,2 x 30) + (0,07 x 30) + (0,006 x 30)
150+ 6 +2,1+0,18

150+ 6+2+0,1 +0,1 +0,08

158 + 0,2 + 0,08

158,28
a. 1,365 x 10 =

K> ]
Y Y ¥Y ¥YT Vv7
A }i*{#i A M4

b. 0,4x9=
e. 0,06 x5=

. 0,9x0,02x10=

e. 0,3x0,2x100 =

d. 17,654 x 60 =

b. 4,932 x30 =

e. 28,342 x 20 =

Y O¥T w9

» 4

1 vy
4

c. 0,7x8=

c. 0,3x0,4x100 =

c. 2,678 x 40 =

Make your own decimal problems using the following guidelines

98 18 17 18 99




How quickly can you recall the answers?

8+4= 35+7= 42+7=

55+5= 63+9= 12+2=

30+5= 16+4= 81+9=

121 +11 = 54+ 6= 42+ 6=

35+5= 125 +25= 144 +12 =
1. Calculate the following.

Example: 0,4+2

=02

a. 08+4=__ b.06+3=___ c.06+2=___
d. 003x8=___ e. 006 x5=__

2. Revision: round off your answers in question 1 to the nearest natural number.

a.

b. c. d e.

3. Revision: calculate the following.

Example: 0,25+5
=0,05

a. 0,81 +9=

b. 0,35+7= c. 0,63x7=__

d. 0,54+ 6= e. 0,12+4=

4. Round off your answers in question 3. to the nearest tenth.

b. c. d e.

5. Solve the following problems.

. I have R45,75. | have to divide it by five. What is the answer?

10 91 14 98 94 6
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b. My mother bought 12,8 m of rope. She has to divide it into four pieces.
How long will each piece be?

C. You need seven equal pieces from 28,7 m of rope. How long will each piece be?

6. Complete the flow diagrams.
a. b. C.

RO,50 2,4m 5,4 kg
Divide by 2. Divide by 8. Divide by 9.
Round off to the Round off to the Round off to the

nearest Rand. nearest m. nearest kg.

d R3,75 e 2,59 f 1,44 kg
Divide by 25. Divide by 5. Divide by 12.
Round off to the Round off to the Round off to the
nearest Rand. nearest litre. nearest kg.

Problem solving

Divide a decimal fraction (with two places after the decimal sign) by a natural number.

If 6 +2 =3, calculate 0,6 +2; 0,06 +2; 0,006 +2. What conclusion can you draw from your observations?

18 16 17 16 19 20 24
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Look at all the examples and work
through them.

What do you notice?

M 12 198 14 1§




1. Calculate.

Example 1:  (0,8)?
=0,8x0,8
=0,64

a. (0,6)?

d. (0,1)?

g. Adda, b, candd.

o <
1 YT YT YT w7
AL bA P4 HA B A

o eole

,

a2
1 X

Example 2: (1,5)2
=1,5x%x1,5
=225

b. (0,2) c. (0,3)2

e. (0,5)2 f. (0,4)

2. Calculate.

Example 1: (0,06)?
@ =0,06 x 0,06
=0,0036

a. (0,03)?

d. (0,04)?

g. Add a and b and then subtract e from your answer.

You may
use a
calculator.
Example 2: (0,13)?
=0,0169
b. (0,05)2 c. (0,01)2
e. (0,12)? f. (0,16)?

18 18 17 168 18 20
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3. Calculate.

Example: +/0,04

=40,2x0,2

=02
a.40,9 .0, 1 c.\0,25
d.N0,36 e.N0,49 f.V0,81

4. Calculate.

Example: 10,0004

=40,02 x 0,02 @
=0,02

a.0,0009 b.4/0,0016 c.40,0001

d.v0,0049 e.7/0,0004 f.40,0121

5. Calculate.

Example: (0,2)3
=0,2x%x0,2x0,2
=0,008

a. (0,3)° b. (0,1)3

99 492 498 94 94
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6. Calculate.

Example: (0,02)3
=0,02 x 0,02 x 0,02
=0,000008

a. (0,03)° b. (0,02)° c. (0,04)3

7. Calculate.

Example: %/ 0,027

=30,3x0,3%0,3
=0,3
a. 30,008 b.30,064 c 30,001

8. Calculate.

Example: %/— 0,027
=§-03x-03x-0,3
=-03

a.3-0,008 b3~ 0,064 c.3=0,001

Problem solving

a. If the side of a square tile is 0,6 m, what is the area of the tile?

b. We can find 3/-0,064. Can we find 4/~ 0,92 Why or why note

c. If the height of a cube is 0,35 m, what is the volume of the cube?

9 16 17 98
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What is the size of A2
What is the size of B¢
What is the size of C2

What do you notice? F+4=5
9 +16=25

25=25

1. Write an equation for the following and verify whether the left hand side is equal to
the right hand side:

2. Draw right-angled triangles with the dimensions as given in the table below.

99 492 498 94 94
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3. What is the hypotenuse? Highlight it in all
your drawings:

4. Find out who Pythagoras was and write a paragraph about him.

Activity

Give two examples of where we can use Pythagoras' theorem in everyday life.



4E\<g
3

42+ 32=15

16 +9=25

25=25

Look at the example and explain it.

a?+ p?=c?

1. Write an equation for the following and calculate each side:

2. Write an equation for the following:

a. X
~ : Y
S
<
i

b 104
130 78
d 68

18 14 16
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3. This is a fractal using the Theorem of Pythagoras. Copy and explain it.

‘ ’ Now try to draw this.

Pythagoras fractal free fun

Copy this Pythagoras fractal tree with a family member




What is the value of x? X2 = (3cm)2+ (4 cm)?

Remember the

hypotenuse is the side

x2=9cm?+ 16 cm? opposite the right angle in
a right-angled triangle.

X =\ 25 cm?

x=5cm

-

4cm

1. Find the lengths of the unknown sides in the following right-angled triangles. You
may use a calculator.

Example: See infroduction.

91 12 1%
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7 cm

2. Find the length of the hypotenuse.

Example:

hypotenuse = V42 + 6?2
=16 + 36

=52
B =7,2cm

4 cm

Investigation

The area of the semi-circle on the hypotenuse equals the sum of the areas of the semi-circles on the
other two sides. Use any Pythagorean friplet to verify this.

16 17 16 90 20 24 a2 28 28 28 2



1. Calculate the lengths of the diagonal of the rectangles

Calculate the length of the diagonal of the rectangle. See the examples below.

3cm

a.

4cm 8cm

5cm

x?=(3cm)?+ (4 cm)?
x>=9cm?+ 16 cm?

x?=(5cm)?+ (8 cm)?

x2=25cm?+ 64 cm?

x2=25cm? x%2 =89 cm?
x =25 cm? x=9,43 cm
x=5cm

28 mm b.

91 12 1%
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2. Calculate the lengths of the diagonal of the rectangles.

a. 2Ccm b.

Problem solving

Create your own problem using the Theorem of Pythagoras problem.

18 18 17 18 190 20 Z1 22 28 20 245 i



Go through the example. Explain.

(16 cm)?=x%+ (5 cm)?
256 cm?=x2+125cm?
x2 =131 cm?

x Vx2 =\131 cm?

x=11,45cm

16 cm

I |_ |

10 cm '

1. Calculate the lengths of the unknown sides in each of the following isosceles
triangles.

a. b. 10,8 cm

N

99 492 498 94 94
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2. Solve the following: James and Lebo are meeting at the Corner Cafe on the corner
® of Park and Tree Street. Presently, James is on Park Street and is 8 kilometres away.
Meanwhile, Lebo is on Tree Street 7 kilometres away. What is their direct (shortest)

distance from each other?

Problem solving

A fruck is moving up a ramp. It is now 1 metre higher than the ground level. The distance from the
beginning of the ramp to where the fruck is now is 2 mefres. How long is the ramp?

18 16 17 18 10 20 24 228 25 20 25 2y 755 29



If the areais 2 025 mm?2 what
will the answer be in cm?2

Tcm=10mm
lcm?=1cmx1cm
1cm?2=10mm x 10 mm
1 cm? =100 mm?

. 2025 mm?
e 100

= 20,25 cm?

1. Calculate. @

i. Area of asquare.
ii. Perimeter of asquare.
Give your answers in mm, cm and m.

Example: A square with side 2,5 cm.

Perimeter Area

P=4s A=sxs
=4(2,5cm) =25cmx25cm
=10cm = 6,25 cm?
Millimetre

=4 (25 mm) =25 mm x 25 mm
=100 mm = 625 mm?

Metre

=4 (0,025) =0,025m x 0,025 m

=0,Tm =0,000625 m?
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c. 45 mm 4

a. 4,1 cm

2. Using the area of a square given below, calculate the length of one side and then
calculate the perimeter.

Example: A =s?
\'s2 =\ 44cm?
s=1,2cm

a. 6,76 m? b. 102,01 cm?

c. 29,16 cm? d. 51,84 m?2

3. Draw each of the squares in question 2. Use a protractor and a ruler.

a. b.

continued &

16 17 18 90 20 24 22 23 24 28 25 7/ 25 20 I



4. Write the following in mm?

Example: 1,44 cm?

1,2cmx1,2cm
12 mm x 12 mm

144 mm?

a. 3,24 cm? b. 5,29 cm?

5. Wirite the following in cm?

Example: 256 mm?

256 mm?
100

= 2,56 cm?

a. 576 mm? b. 3769 mm?

10 99 12 18 14 918
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c. 1681 mm?2

6. Write the following in m?

Example: 21 cm x 21 cm
21 cm x 21 cm

= 2
441 cm =021 mx 021 m
411 cm? 2
~ 710000 =0,0441 m
=0,0441 m?
a. 15cmx15cm b. 24cm x 24 cm

Problem solving

| have 32 tiles of 30 cm x 30 cm. Will | be able to cover an area of 3m?2
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of arectangle?

The area in mm?2 and m? are:

mm?

7 98 cm? 1cm=10mm
lcm2=1cmx1cm

=7,98><]00mm2 lcm2=]OmmX]Omm

=798 mm? 1 cm?2 =100 mm?

1. Calculate.

i. Area of arectangle.

ii. Perimeter of arectangle.

iii. Give your answers in mm, cm and m.

Example: 2,1 cm x 1,8cm Perimeter = 2 (/ + b)
=2(21cm+18cm)

=7,8cm

Millimetres

=78 mm

Metres
=0,078 m

What is the perimeter

What is the area of a
rectangle?

J 1'm=100cm
1 m2=100cm x 100 cm
1 m2= 10000 cm?

2

= 0,000798 m?

Area=1[xb
=2,1cmx18cm
=3,78 cm?

= 3,78 x 100 mm?

=378 mm?

__ 378
~ 10000 ,

m
=0,000378 m?

9 12 13
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a. 0,9cmx1,5cm b. Length = 1,3 cm; breadth =1, c *I

c. 2,1cmx1,9cm b. Length =2,8 cm; breadth=1,7 cm

2. Using the area of a rectangle and the side given below, calculate the unknown
side. Hence, calculate the perimeter.

® Example: Area = 4,14 cm?and breadth = 1,8cm
Area=1[xb Perimeter = 2(/ + b)
4,14cm? =[x 1,8cm =2(2,3cm +1,8cm)
4,14cm?
= ] ,8cm2 =8,2cm
[=23cm
a. Area =2,7m?; breadth =0,9m b. Area =24,9mm?; length = 3mm
c. Area = 333,2m? length =24,5m d. Area = 46,92 m?;, breadth =12cm

Problem solving

You need to file the floor of a room with area of 4,2 m x 3,5 m. The tiles you want to buy are 45 cm x 45
cm. How many files do you need?



a. Base =8 cm; Height =1,5cm

®

Area of a friangle

= ]7(5 cm) x2,3cm

=25cmx2,3cm

2,3cm
=5,75cm?
Answer in m?
H 2
_| Answer in mm 575 m2
s em = 5,75 x 100 mm? 10000
=575 mm?2 =0,000575 m?
1. Calculate the area.
Give your answers in mm, cm and m.
Example: Base =6cm Height = 2,6 cm
Area = ;_ bxh Millimetres: Metres: @®
_ _ 7.8cm?
= L(6cm)x2,6cm  =7.8cm?x100 = o000
=3cmx2,6cm = 780 mm? =0,00078 m?
=7,8cm?

b. Base = 4,6 cm; Height =2,9 cm

c. Base =10 cm; Height =7,3 cm

d. Base = 9,4 cm; Height = 2,25 cm

91 12 1%



O w_ L]
1YY vY YT vT vy

L N A
| , RS S S x
2. Use the area and the base of each triangle given belov '

Example: Area =7,35cm? and the base =7cm

X

Then: 7,35 cm? = ;— (7cm) xh

7.35cm?=3,5cm x h

_7.35cm?
h= 3,5cm

h=2,1cm
a. Area =16,2 cm?% base = 4cm b. Area = 5,52 cm? base =10cm

c. Area=33,12 m? base = 12m

3. Draw the height of each triangle and calculate the area. You will need a ruler.
Note: the height of a triangle is the line segment drawn from any vertex perpendicular
to the opposite side.

Example: A ; A

@
a A b. A
C
B B C
C.
A C
A
C
B B

Problem solving

The triangular area is 10,53 m2. You have 2 025 cm? tiles. How many do you need to tile the area?

198 48 417 16 18 20 24
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Look at following and discuss.

Do you still remember:
¢ the radius is the distance from the centre of the circle to any point on its circumference.
¢ the diameter starts at the side of the circle, goes through the centre and ends on the other side.

circumpg, B, :
s T is an irrational number and is

given as 3,141592654 to the 9™
decimal place.

circumference 22
diameter 7

Tt represents the va 22

circumference divi oo Sl
di t approximate rational
iameter. values.

Here are a few formulas to remember when working with circles.

The diometer of a circle: _
The circumference of a circle: _ or _
The area of a circle is _

1. Calculate the area of the circle if the radius is equal to:

Example: The radius of the circle is 3 cm

A= Tr?

= (3,14159) (3?)

= 28,27 cm?
a. 4cm b.2,8cm c. 3,7cm
d. 4,3cm e.59cm f. 10,1 cm

9 92
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2. Calculate the radius of the circle if the area is equal to: 4

Example: [fA= mr?
40,265 cm = (3,14159) (r?)
=16
r=4cm

a. 12,566 cm? b. 78,54 cm? c. 113,098 cm?

d. 314,159cm?

3. Calculate the area of this figure.

a. 25cm

35cm

4. Solve the following: A sprinkler that sprays water in a circular area can be
adjusted to spray up to 10 m. To the nearest tenth, what is the maximum area of
lawn that can be watered by the sprinkler?

Problem solving

Mandla draws a circle with a diameter of 16 cm. He colours one half of the circle. What is the area of
the shaded part?

16 17 16 10 20 21 22 28 28 23 7Y
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Match the formulas to the words.
Perimeter of a square

Perimeter of a rectangle
Area of a square

Area of a friangle
Diameter of a circle
Area of arectangle

Circumference of a circle

Area of a circle

1. Solve the following.
a. If the perimeter of a square is 52 cm, what is the length of each side?

b. If the area of a rectangle is 200 cm?, and its length is 50 cm, what is its breadth?

99 492 498 94 94
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c. You live in a rectangular-shaped house that is 150 m long and 902 m wide.
You want to plant shrubs around the house. You have to plant the shrubs 70 m
apart. Approximately how many shrubs will you need to surround the house?

d. Aroom of which the area is 14,8044 m? has a length which is 100 cm longer than
the width. What are the dimensions of the room?2

e. Calculate the area of the circular fish pond with a diameter of 3m. Let w be 3,14.

Problem solving

Calculate the area of the circular sector of which the cord (3cm) is the side of the square inscribed in a
circle with a radius of 3 \/;cm.

16 17 16 90 20 24 a2 28 28 28 2
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Capacity of a cube

* An object with a
volume of 1 cm?3 will
displace exactly 1
m! of water.

* An object with a
volume of T m?* will
displace exactly 1 kl
of water.

1. Calculate the volume, capacity and surface area of the following cubes:

Example:

Volume Capacity Surface area

D o - ®
. Capacity is the maximum o
Volume of a solid amount of liquid or gas This is the fotal area
is the amount of that a container can of the surface of a

space it occupies. geometric solid.

hold.

Length: 4 cm Note: An object with Net of the cube: how
a volume of 1 cm? will many faces are there?
displace 1 ml of water.
~an object that is 64 cm3 4cm
will displace 64 ml water or
0,064 1.

V=2

V=(4cm)?

V=64cm?

Surface area = sum of all

Cubic mm Cubic cm Cubic m Litre fhe area of all the faces.
= 6 (area of a face)

1 000 000 000 | 1 000 000 1 1 000 = 62

1 000 000 1000 0,001 1 =6 (4cm)?
= 2

1 000 I 0,000001 0,001 © = 116 Ei
=96 cm?

10 99 12 18 194 U6
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: A
Length: 2cm Length: 3,2 cm 4 r+ !
a.
4
c. Length: 4,6 cm d. Area of base: 25 cm?
Breadth: Height:
Height:
®
e. Length: f. Area of base: 81cm?
Breadth: Height:
Height: 1,2 m

Prolem solving

How much water can a container of 32 cm by 32 cm by 32 cm containg
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10 mm, then 1 cm? =100 mm?

100 cm, then T m2 =10 000 cm?

10 mm, then 1 cm3 =1 000 mm?

100 cm, then 1 m3 =1 000 000 cm?3 or 10¢ cm?3

Capacity of a prism

* An object with a
volume of 1 cm3 will
displace exactly 1
m! of water.

* An object with a
volume of 1T m?* will
displace exactly 1 kl

of water.

. Calculate the volume, capacity and surface area of the prisms.

Example:
Volume Capacity Surface area
4.cm Note: An object with Describe the faces.
o.volume of 1 cm? will 4cm
displace 1 ml of water.
2em | an object thatis 12 cm?
will displace 12 ml. 2cm
1,5cm 1,5¢cm
V=Ixbxh
V=4cmx2cmx1,5cm
V=12cm?
Surface area:
A =2bl+2lh +2hb
Cubicmm  |Cubiccm | Cubic m |Litre =2(l.5cmx4cm)+2 (4
1000000000 | 1000000 |1 1000 gm)x Zem)+2(2emx 1.5
1 000 000 1 000 0,001 1 =12 cm2+ 16 cm?2 + écm?
1 000 1 0,000001 {0,001 =34 cm?

10

H 92

18

94

18
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5cm
a. b.
3.2cm
2,1 cm
c. Length: 7,3 cm d. Area of base: 24 cm?
Breadth: 5,5 cm Height: 2,5 m
Height: 3,8 cm

2. Give examples of where you would need to work out the volume and the surface
area of a rectangular prism:

Prolem solving

A box has a square base with sides of 8 cm. What is the height of the box if its volume is 384 cm?32




Example:

=
O
-
5cm
<
ke
o}
T
&
3}
[o0]
i 2cm hejght
il

4 cm breadth

° | |

What geometric object is this A-frame house?
What will the geometric object's breadth be?
How many faces does the object have?
Visualising the house, what do you think its

dimensions are (area of base (the floor) and the
height of the building))?2

1. Calculate the volume:

bxh)x H

x5cmx4cm)xé6cm

1l
—_ — —

cm X ‘T‘cm)xécm

cm?xé6cm

)
NIS N IG N =N | —

é6cm =10cm?x6cm

=60cm?

12 18 14 16
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5cm

dcm

2. Using the formula V = % (b x h) x H, calculate the value of the unknown in each of
the following:

a.H=10cm; b =6cm and h = 4cm b.V =480m3; b =8m and h = 4m

c.V =48mm3; H = 3mm and h = 4mm d.V =63cm3 b=6cmandH=7cm

Problem solving

A water tank has the shape of a triangular prism. The base of the tank has an area of 160cm?. The
3

height of the prism is 100cm. If the tank is filled to its 1 mark, calculate its volume.
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Capacity of a prism

* An object with
a volume of 1
cm? will displace
exactly 1 m/ of
water.
Height (H) * An object with a
volume of 1T m3 will
displace exactly 1
kI of water.

height (H)

=
base (b)

Revise

¢If 1cm=10mm, then T cm? =100 mm?

¢lf 1 m=100cm, then 1 m?=10 000 cm?

elf 1cm=10mm, then 1 cm?®*=1 000 mm3

¢lf Tm=100cm, then 1 m®=1 000 000 cm?3 or 106 cm?3f

1. Calculate the volume, capacity and surface area of the triangular prisms.

Volume V=5(bxh)*xH
V=% (6cm)x4cmx3cm
A V=3cmx4cmx3cm
V=36cm?
6c 3cm
Capacity Note: An object with a volume of 1 cm?3 will displace T ml of water.

~ an object that is 15 cm?3 will displace 15 ml of water.

Surface area

A =2 (area of triangle) + (area of the three rectangles)

Area of triangles: = 2 (3 (6 cm) x 4 cm) = 24 cm?

Area of middle rectangle = base xlength =6 cm x 3 cm = 18 cm?
Area of the other two rectangles = (length x side of triangle) x 2
=(BcmxV42+3)x2=(3cmx5cm)x2=15cm?x2 =30 cm?
A=24cm?+ 18 cm? + 30 cm? = 72 cm? To find the length of two of the
rectangles we need to use

5 % Pythagoras theorem in a friangle.
5cm

NS
(@SS -
3

éem 3cm
\
The two triangles will be the Note that the two triangles

are identical, but the three
rectangles are different in size.

same size.
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e 3cm

b. Base of triangle: 3,4 cm
Height of triangle: 2,9 cm
Height of prism: 4,5 cm

Draw:

c. Base of triangle: 7,5 cm
Height of triangle: 5 cm
Height of prism: 2 cm

Draw:

Prolem solving
What is the volume, capacity and surface area of a triangular prism with a base rectangle of 16 cm
and which is 4 cm long and 3 cm high?
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Think of all the steps you will use in solving a problem.

1. Calculate the volume, capacity and surface area of each of the following prisms.
Give your answers in mm, cm and m.

a. The length of one edge of a cube is 2,75 cm.

b. The length, breadth and height of a rectangular prism is 4,25 m, 3,75 m and
2,95 m respectively.

10 12 18 14 &
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c. The Height of a triangular prism is 4 cm, the triangles' height is 4 cm 4
and the friangles' base is 6 cm.

2. You want to paint the walls and ceiling of a room that measures 3 m x4 m and is
2,7 m high. One litre tin of paint will cover 8 m2. How many tins of paint will you
need?

Problem solving

Create your own word problems to find the volume, capacity and surface area of a:

* cube

e rectangular prism

e friangular prism




o/

Revise

Surface area of a prism
A = the sum of the area of all its faces.

Volume
olf 1T cm=10mm, then 1 cm3=1 000 mm?3

olf 1 m=100cm, then 1 m3 =1 000000 cm?3or 10¢ cm?

Capacity
* An object with a volume of 1 cm? will displace exactly 1 ml of water.
* An object with a volume of 1 m? will displace exactly 1 kI of water.

1. Calculate the volume and surface area of a prism if
AB=6cm,BC=8cmand CF=16 cm.

H 92

18 14 16
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2. What is the volume, capacity and surface area of this cubic water 4
container? The length of one side is 1,2 m.

3. You want to wrap a box with brown paper. The box is 20 cm x 30 cm x 50 cm.
How many rolls of paper do you need if a roll is 30 cm wide and there is 1 m on
aroll?

Problem solving

You want to collect rain water for your vegetable garden. The roof of your house is 100 m? and the
average annual rainfall in South Africa is 500 mm. How big must the tank be if you want to collect all
the water that falls on the roofe
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Data handling is a cycle. In the worksheet to follow we are going to learn about
this cycle. The part that we are learning about will be in green with some notes.

Start with a ’\\‘\\

question s e

Data handling cch:

b

The population refers to the entire group of individuals or objects in which we are
interested in getting data from or about.

Here are all the terms you need to know.

If we are able to ask everybody (the whole population) then it is called a @
census.

If the group (population) is very large, we can ask some of the people - this is
called a sample of the population.

The best way to prevent bias in a survey is to select the sample using a random
sampling method.

A common method of collecting primary data for a survey is to use a
questionnaire.

So if we want to know something, we need to start with posing questions
for data (information) collection.

Discrete data is data that can only take certain values.

Continuous data is data that can take any value (within a range).
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Example:
Classify the following examples as "continuous data” or “discrete data".
e The number of men and women who attended an event (discrete)
e The mass of the children in your class. (continuous)

e The number of questions in a test(discrete)

¢ The length of hair-growth over a one-month period (confinuous)

You think most people in your school get to school by bus. You want to investigate this by means of
a survey. A tally chart can be used to record your data. Write a hypothesis for your survey.
Hypothesis: most learners from our school use the bus to get to school. Who will you use for your
survey?e

Answer: population — all learners of the school, or a sample — only a portion of them, randomly
selected, say 20% per grade.

If the population is too big and you need to select a sample, how will you go about selecting a
sample to eliminate bias?

To eliminate bias the sample must be randomly selected across the grades and across the possible
fransport methods. If we decided to only survey 20% of the population, it will be biased to stand at
the bus stop and ask every fifth learner. It will also be biased if we only ask learners in the higher or
lower grades. Instead, it will be less biased if we take an alphabetical list of all learners and select
every fifth name to participate in the survey.

Design a simple questionnaire for your survey using multiple choice questions. Your data must also
@ include:

a. Grade of learner

b. Gender

c. Means of fransport

Transport survey for Georgetown High School

We want to determine the most popular means of transport used by learners to school.
Please assist us by answering a few questions.

Which grade are you? (tick the correct box)

Gender? (tick the correct box)

Which fransport means do you use MOSTLY to get to school? (only tick one box)

If other method, please specify:

continued @

16 17 93 90 22 20 22 B 260270028 . 130
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1. Classify the following data as either discrete data or continuous data.

a. The number of potatoes in a bag is noted by a restaurant cook over several weeks
of work.

b. A quality technician records the length of material in a roll product for several
products selected from a production line.

c. The number of times that a movement authority is sent to a train from a relay
station is recorded for several trains over a two-week period. The movement
authority, which is an electronic transmission, is sent repeatedly until a return signal
is received from the train.

2. Do a survey of learners in your school to find out what their favourite movie is.

a. Write a hypothesis for your survey project.

b. Who will you ask? Define your population.

. How will you select a sample from your populatione

O 99 12 198 94 9§
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d. How will you ensure that your survey eliminates bias?e

"9
e

e. Design a simple questionnaire for your survey, using multiple choice questions to
establish grade, gender, favourite movie type and favourite movie.

Apply your knowledge

Design the survey

In making a survey, it is very important to decide first what questions you want
answered. Make sure that you are asking all the questions that interest you.
There won't be time to go back to those surveyed to get more information.

Write a hypothesis for your survey.

Create a survey that lists all of the popular cold drinks. Be sure to create
an "other" option.

Ask how many cold drinks each student drinks per day. You can define
cold drink consumption around a common quantity such as millilitres.

Will the choice of cold drink be discrete or continuous data?
What type of data will the consumption of cold drinks be?

22 75 24 28 75 |
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In the previous worksheet we looked at posing a question and collecting data.
The next step in the data handling process is to organise data.

Start with a
question

We can organise the data using

Tallies % /) =8

Tallying is a way of counting data to make it easy to display in a table. A tally
mark is used to keep track of counting. @

Frequency tables

A frequency table has rows and columns. When the set of data values is spread
out, it is difficult to set up a frequency table for every data value as there will be
too many rows in the table. So we group the data into class intervals (or groups)
to help us organise, interpret and analyse the data.

Stem-and-leaf tables
Stem—and-leaf tables (plots) are special tables where each data value is split
into “leaf” (usually the last digit) and a “stem” (the other digits). The "stem"
values are listed down, and the "leaf" values go right (or left) from the stem
values. The "stem" is used to group the scores and each "leaf" indicates the
individual scores within each group.
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Example:
The number of calls from motorists per day for roadside service was recorded for a month. The
results were as follows:

28 (1221217 | 130 | 120 | 86 | 80 | 90 | 120 | 140
70 | 40 | 145|187 | 113 | 90 | 68 | 174 | 194 | 170
100 75 | 104 | 97 | 75 | 123 | 100 | 82 | 1092 | 120
81

How will we group these numbers into class intervalse What do you suggest?
Discuss with others.
Now look at this method.
Smallest value = 28
Highest value = 217
Difference = highest value — smallest value
=217-28
=189

Now we decide that we want five class intervals.

Therefore: ]%9 = 37,8 = 40 (round off to the next 10)

Now we can consfruct a table with three coulumns, and then write the date groups or class intervals
@ in the first column.

The size of each group is 40.

Six groups (one

So the groups will start at 0, 0-39 / more than we
40, 80, 120, 160 and 200 to 40— 79 thought at first).
include all of the data.

80-119

120-159

160 - 199

200 - 239

Next we can go through the list of data values. For

the first data value in the list, 28, place a tally mark 0-139 | :
against the group 0-3% in the second column. For the
second data value in the list, 122, place a tally mark 40-79 M S
against the group 120-159 in the second column. For 80— 119 »H‘H’ »H‘H ” 12
the third data value in the list, 217, place a tally mark
against the group 200-239 in the second column. 120-159 J—H’I’ I 8
Continue this process until all of the data values in the 160 = 199 ”” 4
set are tallied.

200 - 239

continued @

7
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1. The data shows the mass of 40 students in a class to the nearest kg. Draw a
frequency table for the data using appropriate class intervals.

56 | 70 | 57 | 73 | 85 | 59 | 64 | 72
60 | 48 | 58 | 54 | 69 | 51 | 63 | 78
75 | 64 | 65 | 57 | 71 | 78 | 76 | 62
49 | 66 | 62 | 76 | 61 | 63 | 63 | 76
52 | 76 | 71 | 61 | 83 | 56 | 67 | 71

2. The following table represents the time taken by a group of learners to answer
mental maths questions (in seconds). Draw a frequency table for the data using an
appropriate scale.

20 | 25 | 24 | 33 | 13
26 8 19 | 31 11
16 | 21 17 | 1 34
14 | 15 | 21 18
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3. Aresearcher was interested in knowing how many telephone calls 4
teenagers make in a month. He monitored the calls of 18 learners randomly
selected from your school. The following data was recorded during the month:
53, 35, 67, 48, 63, 42, 48, 55, 33, 50, 46, 45, 59, 40, 47, 51, 66, 53.
Draw a frequency table for the data using an appropriate scale.

"9
e

The following table represents the test scores of a class in mathematics.
Draw a frequency table for the data, using an appropriate scale.

58 | 68 | 60 | 71 | 83 | 62 | 64 | 72
63 | 46 | 61 | 52 | 67 | 54 | 63 | 78
78 | 62 | 68 | 55 | 69 | 81 | 76 | 62
52 | 64 | 65 | 74 | 59 | 66 | 63 | 76
55 | 74 | 74 | 59 | &1 | 89 | 67 | 71

& 98 2 29 S 24 28 23 7y 20 20
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Read and discuss this table.

Summarise daiia

Measure Definition How to calculate Example
Dataset: 2,2,3,5,5,7,8
Mean The mean is the To find the mean, you | Adding up the numbers gives:
total of the numbers | needtoaddupallthe | 2+2+3+5+5+7+8=32
divided by how data numbers, and There are seven values, so you
many numbers then divide this total divide the total by 7:
there are. by the number of 32+7=4,57..
values in the data. So the mean is 4,57.
Median The median is the To find the median, The numbers in order:
middle value that you need to put the 2,2,3,(5.5,7.8
divides the data values in order, then The middle value is marked in
distribution into two | find the middle value. | brackets, and it is 5.
halves. If there are two values | So the median is 5.
in the middle, then
you find the mean
of these two values.
Mode The mode is the The mode is the value | The data values:
value that appears | which appears most 2,2,3,5,5,7.8
the most. offen in the data. It is The values that appear most
possible to have more | often are 2 and 5. They both
than one mode if appear more times than any
there is more than one | of the other data values.
value which appears So the modes are 2 and 5.
the most.
Range The range is the To find the range, you | The data values:
difference between | first need to find the 2,2,3,5,5,7,8
the biggest and the | lowest and highest The lowest value is 2 and the
smallest number. values in the data. highest value is 8. Subtracting
The range is found by | the lowest from the highest
subfracting the lowest | gives: 8-2=546
value from the So the range is 6.
highest value.
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1. Use the data below and discuss the given answers. 4
i

{

a. (2,23,3,3,4)

Answer: The mean
. average is not Range Mean

Range = 21 = always a whole
Mean =7 number. .
IV Median Mode
Mode(s) =3
b. (1,22,20,29,29,29,24) Remember fo start
Answer: = gégrﬁgﬂzgnglﬁo Range Mean
Ronge_: 28 big when looking at
Mean =22 the median. Median Mode
Median = 24
Mode(s) = 29
c. (29.9.1,26,25) Note: if ’rh?re is an even
ANSwers: amount of numbers, R M
Range = 28 the median will be the ange ean

9 - T value that is halfway
wigem = 1€ between the middle Median Mode
Median = 25 pair of numbers.
Mode(s) = none

® 2. Use the data below and calculate:

| 8 | 14| 15|50 | 6|19] 3 |[37]12]10]

a. The mean

b. The median

c. The mode

18 16 17 18 10 20 21 22 28 24 28 2G



d. Minimum value

e. Maximum value

f. Therange

3. David made a frequency table to show the number of pets owned by 10 people. @
The range is 6. What might the total number of pets be? Explain.

4. The frequency table of a survey shows a minimum value of 43 and a maximum
value of 336. What is the range?

5. Peter’s scores in six subjects are 72, 48, 72, 72, 72, and 84. What is his average score
(mean)?
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6. The following table represents the percentage of people in each of 4
four age groups who own motor cars. Find the range of the given data.

15-24 17.9
25-34 45,6
35-44 66,2
45-54 74,9

7. The table shows the amount of fruit sold by a street
vendor on seven consecutive days. Using the table,
calculate the mean number of fruit sold per day.
What is the minimum value, maximum value and
range?

Fruit sold 6 8 10 12 16 4 14

Problem solving

The scores of learners of four teams, A, B, C, and D, in their math tests were recorded.
Each team reported a result of 90%.
Which of the measures of central tendency was used by each team to report its resulte

Team A: 85, 81, 91, 96, 97

Remember:
Team B: 93, 92, 90, 90, 91 We use the following
as measures of central
Team C: 85, 81, 94, 93, 90 \ tendency:
Team D: 85, 89, 90, 90, 90 * mean
¢ median

* mode

18 18 17 18 10 20 21
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To record data one can use a bar graph.
Start with a
< question 4
"'e. o' ce c‘//ee \i‘
A R : Yz, ’ the \
9@«"‘“ \/.

Data handling cycle

Bar graph

A bar graph is a visual
display used to compare
the frequency of
occurrence of different
characteristics of data.

This type of display allows us fo:
e compare groups of data
- /ogo“\" ¢o‘°  make quick generalisations about the
data.

1. The following table shows the sales of cars per month at a second-hand car
dealership. Create a bar graph for the data.

| Month | Carssou |
January 15
February 14
March 13

April 11 @
May 9

June 7

July 2
August 7
September 8
October 11
November 12
December 14

Analyse and interpret your graph and answer the following questions.

a. Where do you think this data came from?
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b. How can this data and graph be useful for the car dealer?

‘v e

c. What scale did you use for your graph? Explain why.

®

d. Calculate the mean, median and mode for monthly sales.

e. What can you tell from these answers?

continued &

18 18 17 18 98 20 2:3) 27882 88 - BR300
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f. What is the data range?

g. What can you tell from the range about the data?

h. Is there any extreme data (very small or large data)2 Why do you think this data
varies so much from the mean@

i. If you want to determine the sales for all second-hand car dealers, how will you go
about doing that?

1 91 92 198 14 18
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j. How can you help avoid any bias in your data?2

Apply your knowledge

Use data collected from your class about their favourite movie star.

1. Compile a frequency table using tally marks.

2. Draw a bar graph using your frequency table.

3. Analyse and interpret your graph and answer the following questions.
a. Whatis the independent variable?

What is the dependent variable?

What are we comparing in this graph?

Who is the favourite movie star?

Who is the least favourite movie star?2

0 ao00T

What scale did you use for your graph? Explain why.
. Calculate the mean, median and mode.

®

. What can these answers tell you?2

What is the data range?
j-  What range can you deduce from the data?
k. If you want to determine the most popular movie star in your school, how will you do that?

i. How can you avoid any bias in your data?

Denis Johnny Depp Elias Julia Roberts

John Julia Roberts Simon Nicolas Cage
Jason Julia Roberts Thabo Will Smith
Matapelo | Denzil Washington | Susan Julia Roberts

Ann Brad Pitt James Johnny Depp
Opelo Eddie Murphy Ben Brad Pitt

Lisa Amanda Seifried Lauren Will Smith

Gugu Jamie Foxx Tefo Denzil Washington
Sipho Julia Roberts Alicia Johnny Depp
Lorato Charlize Theron Mandla Julia Roberts

18 18 17 18 10 20 21 2:3
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To record data one can use a double bar graph.

Remember that

Start with a
question

£

the two sets of

data on a double
bar graph must
be related.

o
°'c; ”7@

Data handling cycle

Double bar graphs

Double bar graph

A double bar graph is similar
fo aregular bar graph, but
gives two pieces of related
information for each item
on the vertical axis, rather
than just one.

This type of display allows us to compare
two related groups of data, and

to make generalisations about the data
quickly.

N

80
60

Test results

| B B o |

Term 1 Term 2 Term 3 Term 4

Literacy % ™ Mathematics %

Year Primary schools High schools
1985 325 225
1990 361 240
1995 418 274
2000 425 277

1. The table below represents the expenditure per learner for primary and high
schools. Draw a double bar graph.

Analyse the data and answer the following questions.
a. What is the independent variable?

10 99 92 198 14 1§
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b. What is the dependent variable?

c. What are we comparing with this graph?

d. In general, what can we say about the expenditure per learner?

2. From 1994 to 2006, the percentage of households in this town that recycled their
waste increased. Examine the table to see how many households are helping our

B B e T

Metal cans Plastics Paper
1994 56% 52% 58%
2006 81% 84% 83%

Draw a double bar graph to illustrate the increase.

continued &
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Analyse your graph and answer the following questions.
a. Where do you think this data came from?

b. How can this data and graph be useful for recycling companies?

c. What scale did you use for your graph? Explain why.

d. Calculate the mean, median and mode.

e. Compare the mean, median and mode for 1994 to 2006.

f. What conclusions can you make from these answers?

g. Whatis the data range?
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h. What does the range tell you about the data?

i. How can you avoid bias in your data?

3. The table shows the median age of men and women at the time of their first
marriage. Create a double bar graph to represent this data. What conclusions can
you draw?

Year 1940 1950 1960 1970 1980 1990
Men 24,3 22,8 22,8 23,2 24,7 26,1
Women 21,5 20,3 20,3 20,8 22 23,9

Applying your knowledge

Jerry asked 26 children in her class how many hours per day they watch TV and how much time they
spend doing homework.

v 0 0 1 1 1 1 1 1 1 1 1 1 2
Homework | 1 05| 15| 2 1.5115] 2 |25]05(025[025(025]| 1,5

v 2 2 2 3 3 3 3 4 4 4 5 5
Homework | 3 05| 25 4 1.5 1 3.5 3 25| 1,5 2 1.5 2 3

a. Make a frequency table.
b. Make a bar graph.

c. Compare the mean, median and modes for watching
TV and doing homework.

d. What conclusion can you make from this
information? Explain.

16 17 18 10 2
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Fistiograms

Histogram
A histogram is a particular
kind of bar graph that
summarises data points
falling in various ranges.

Start with a
question /

r Co//ee
— & \

t
\%%/‘. The main difference between a normal bar graph
Data handling cycle and a histogram is that a bar graph shows you the
‘ frequency of each element in a set of data, while a
histogram shows you the frequencies of a range of
data.

In a histogram the bars must tfouch, because the data
elements we are recording are numbers that are grouped,
and form a continuous range from left to right.

Revise the steps in constructing a histogram

Constructing a histrogram Height of learners
Step 1 — Count the number of data points.

Step 2 — Summarise on a tally sheet.

Step 3 - Compute the range.

Step 4 — Determine the number of intervals.

Step 5 — Compute the interval width.

Step 6 — Determine the interval starting points.

Step 7 — Count the number of points in each interval.
Step 8 — Plot the data.

Step 9 — Add a tfitle and a legend.

oO—_NwhPOIOON

o
< <
N
0 <
™ <
-

146-150
151-155
156-160
161-165

Revise how to compute the interval width.

Look at the following example:

28 (1221217130120 | 86 | 80 | 90 | 120 | 140
70 | 40 | 1451187 | 113 | 90 | 68 | 174 | 194 | 170
100 | 75 | 104 | 97 | 75 | 123 | 100 | 82 | 109 | 120
81

Arranged from small to large, it will be:

|28 | 40 | 68 | 70 | 75 | 75 | 80 | 81 |82 | 86 | 90 | 90 | 97 |100|]OO|IO4|109|]13|I20|120|]20|122|123|130|l40|l45|170|l74|187|194|2]7|

Smallest value = 28
Highest value = 217 Ideally we do not want
Difference = gi]g;e;% value - smallest value m°’ei:"1‘:r'\";|‘:.¢'°ss

=189

il
Now we decide that we want five class intervals. ' ~
Therefore: 37,8 = 40 (round up to the next 10)

W 9 2 8 4 8 6 ¥ 8 8 90 H 12 18 14
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Once we have determined the range and the class intervals, we must organise the data into a
frequency table.

0-39 / 1
40-79 | W7 5
80-119 | L7 L7 /) 12
120-159 | 247 J// 8
160-199 | //// 4

200-239 | / 1

With the data in a frequency table, it is easy to construct a histogram.

Histogram example

14
12

ON B~ O

0-39
40-79
80-119
120-159
160-199
200-239

1. Draw a histogram based on the following set of numbers.

43 | 85 | 83 | 85 | 90 | 90 | 95 | 96 | 97 | 101 [ 105 | 105 | 112 | 115 | 115 | 119
124 |1 128 | 135 | 135 | 135 | 137 | 138 | 145 | 165 | 160 | 185 | 1892 | 202 | 209 | 232 | 15
56 | 70 | 98 | 100 | 105 | 105 | 110 | 111 [ 112 | 116 | 120 | 120 | 127 | 130 | 130 | 134

a. Compute the range.

continued @
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b. Determine the number of intervals.

c. Compute interval width — show your calculations.

d. Determine interval starting points.

e. Count the number of points in each interval from the frequency table.

f. Plot the data.

g. Add a title and a legend.
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2. Use the following data to draw a histogram.

e
>4

33 |3 | 73 | 65 |8 |70 |8 | 76 | 8 | 81 | 956 | 85 | 102 | 95 | 105
1141108 | 125 | 115 | 125 | 117 | 128 | 125 | 145 | 140 | 175 | 169 | 192 | 189 | 222
16 | 28 | 56 | 58 | 63 | 63 | 68 | 62 | 70 | 74 | 78 | 78 | 85 | 88 | 88
92 | 97 | 101 | 108 [ 108 | 108 | 110 | 111 | 118 | 128 | 133 | 168 | 162 | 175 | 182

Find the mean, the median and the mode.

Problem solving

A bank wants to improve its customer service. Before deciding to hire more workers, the manager
decides to get some information on the waiting times customers currently experience. During a week,
50 customers were randomly selected, and their waiting fimes recorded. This is the data collected:

a. Draw a frequency table of the data.
b. Create a histogram.

Cc. Must she hire more people?

Explain your reasoning.

18 18 17 968 10 20 29 22 28 24 28 26



NEEE O —

hQSa Mere on histiograms

y

Read and discuss.

Frequency

Part of the power of histograms is that
they allow us to analyse extremely large
data sets by reducing them to a single
graph that can show primary, secondary
and tertiary peaks in data as well as give
a visual representation of the statistical
significance of those peaks.

This plot represents data with a well-defined peak 0-10 11-20 21-30 31-40 41-50
that is close to the median and the mean. While there
are "outliers," they are of relatively low frequency.
Thus it can be said that there is a low frequency of
deviations in this data group .

Example:

Histograms can come in different shapes. The two most common shapes
are the bell-shaped curve also known as the ‘normal distribution,” and the
skewed distribution.

Histogram A Histogram B Histogram C
Normal distribution Skewed distribution Skewed distribution
(Bell-shaped) (Skewed to the left) (Skewed to the right)
6 — 8 8
: : :
: [T || il || 5 -

n O v O v O W n O v O 1B O W N O v O WV O W
O <~ - O O O© O M < T 0O O O O O < T 0 B O O
A ~ ~ A ~ ~ A ~ ~ ~ ~ ~ ~ el A A A ul A ul Al Al ~
- © - © - © — - © = © = & — - O - © = & —
[SPIENSO IR S RS N [0 I Yo I (o) MO O - - 0O 0 O O MO <~ - O W O
~ el ~ ~ el ~ ~ ~ ~ ~ ~ el el ~ ~ ~ ~ ~ ~ ~ ~
OHeight of learners BHeight of learners B Height of learners

Looking at these three histograms, what can you tell us about the height of the learners in the
class?

* In histogram A, most learners are close to the average height, with a few learners taller and a
few learners shorter.

* In histogram B, most learners are short with a few learners who are very tall.

* In histogram C, most learners are tall with a few learners who are very short.

W 9 2 8 4 8 6 ¥ &8 & 90 H 14 18
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1. Look at the following histogram and answer the questions.

Jazz music lovers

63

1990-1995 1996-2000 2001-2005 2006-2010

a. What shape is this histogram?

b. Which year has maximum support for jazz musice

c. Which year has the minimum number of jazz music lovers?

d. What was the total number of jazz music lovers in 2000-20052

e. What was the total number of jazz lovers from 2000-2010¢

f. Which decade had the most jazz music lovers?

g. What can you conclude about jazz music lovers if you look at this graph?

continued &
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2. Answer the following questions about this histogram.

Project hours worked

30 75
15
10 .

1-10 11-20 21-30 31-40
Hours Hours Hours Hours

ONumber of people

a. What is the shape of the graph?

b. How many hours did less than 10 people work?2

c. How many hours did at least 20 people work.?

. How many people worked for at least 20 hours?

© 90 9 92 98 94 96
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e. How many people worked for at least 31 to 40 hours?

"9
e

f. How many people worked between 11 and 30 hours on the project?

@ Problem solving

Consider the following data set.

57 66 73 92 77
31 60 32 22 25
45 36 49 42 56
37 88 41 54 42
57 63 59 15 62
3 32 82 48 37
78 18 39 77 97

Sort the data in increasing (ascending) order.

Make a histogram for this data with intervals 0-19, 20-39, 40-59, 60-79, and 80-99.

Make another histogram for this data with intervals 0-50 and 51-99.

Make a histogram for this data with intervals 0-4, 5-9, 10-14, 15-19, .. ., 85-89, 90-94, and 94-99.

Discuss the advantages and disadvantages of each of the histograms.

"0 00 T Q

What do you learn from each?

Overall, which one is the most informative2 Whye Write a short paragraph in which you discuss
what your two histograms reveal.

@
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To record data one can use a pie chart.

Pie Chart
A pie chart is a circular
Start with chart in which the circle is
art with a o . .
question 4 divided into sectors.
r e,
Data handling cycle Each sector visually represents an item in a

data set to match the amount of the item as

a percentage or fraction of the total data seft.
(the whole circle)

Pie charts are useful to compare different parts
of a whole amount.

Revise the pie chart and how to draw a pie chart.

Make sure it adds

- up to 100%
Steps:
1. Convert all of your data points to percentages of the whole data set. @
2. Convert the percentages into angles. Since a full circle is 360 degrees, multiply this by the

percentages to get the angle for each section of the pie.

Draw a circle on a blank sheet of paper, using a compass. While a compass is not necessary,
using one will make the chart much neater and clearer by ensuring that the circle is even.

Draw a horizontal line, or radius, from the centre to the right edge of the circle, using a ruler or
straight edge. This will be the first base line.

Measure the largest angle in the data with the protractor, starting at the baseline, and mark it
on the edge of the circle. Use the ruler to draw another radius to that point.

Use this new radius as a base line for your next largest angle and continue this process until
you get to the last data point. You will only need to measure the last angle to verify its value
since both lines will already be drawn.

Label and shade the sections of the pie chart to highlight whatever data is important for your
use.

1 99 192 98
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1. Ahmed is the treasurer of the grade 8 class at the Langalibalele High School™ ¢ |
His class raised money for activities through various events. The total amount
raised was R2 440. Ahmed used a pie graph to show the amount of money
each event raised.

Study the graph and answer the following questions.

Funds-raising events

® Flea market

® Dance

B Cake sale

B Flower sale
Dinner

B Car wash

a. What percentage of the total money was raised at the flea market?

b. How much money was raised at the flea market?

c. What percentage of the total money was raised at the car wash?

. How much money was raised at the car wash?

continued &
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1 99p Piercharts continued
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e. How much more money was raised at the flea market than at the car wash?

f. How much money was raised at the cake sale?

g. How much more money was raised at the dance than at the cake sale?

h. Calculate the difference between the money raised at the flower sale and at the
dinner.

i. Ahmed offered a suggestion for next year. Since the flea market and dance
raised about half of the total amount of money, he feels that the class should
have two dances and two flea markets instead of the car wash and the dinner.
Do you agree?¢ Explain.

90 99 12 18
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2. Look at the two pie charts below and say if you agree with this
statement: ‘More grade 9 learners travel to school by car in school A than in
school B'. Give reasons for your answer.

ECar
B Bus
= Walk
H Bike
Other
School A School B
3. Your expenditure for the week is:
Expense Value
Rent 450,75
Food 220,50
Transport 77,88

Draw a pie chart to display this information.

Problem solving

A sample shows that on average every person in South Africa generates 240 g of plastic waste per day.

This table shows the different categories of plastic waste and the amount in grams generated per day.

Draw a pie chart to display this information.

Category Plastic waste generated per person per
day (in grams)
PET 120
PvC 48
PS 24

12

17 968 10 20 21 22 28 24 28 26 7y



- .... (@ N
'

100ap.¥Brioken line graph
»

To represent data one can use a broken line graph. The data is plotted as a series of points that are
joined by straight lines.

Meteorologist use line graphs to show

213;:521 p y o : monthly rainfall.
y "/;': P '\
\ With some line graphs
. i it might be possible
Data handling cycle ﬁﬁgngiigﬂﬂée?hgsﬁ to cgnﬁnuep’rhe line
information about profits. to show what might

happen in the future.

-~

Line graphs are useful as they show trends and can easily be extended.

The line graph below shows rainfall measured over a period of six months for Town A.

Town A |
What happens in l
120 - this graph?
100
= ®
€ 80
g =
E 60
(=
S 40
oz
20
O 1 1 1 1 1 1
5 & © & 3 ¢
> > O < S =
C gO) E
g 9

considerably as in the example
where the rainfall goes up and
down

A broken line graph is useful
\ where the data values vary
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Example: Each step in drawing a broken line graph is described.

This example is a graph of the profit you made selling sweets over fen months.

Profit on sweets sold

132 A
/ N\
o I\ / N\
[ N

g
80
= / N \
60 V4 ~——_
40
20
0 ' e s s s
- —_— ——— —_ —_
s & & % ¢ & & 8 &8
) > © < = S - [&)] [ o
= 5 = = o) §3;
> w o o
@ Months S

In January a profit of R50 was made.
In February a profit of R120 was made.
The points are connected with a straight line that shows that the profit increased.

In March a profit of R70 was made.
The points, February and March, are connected with a straight line that shows that the profit
decreased.

The profit in April was R?0, in May it was R100 and in June it was R150.
The points, March, April, May and June, are connected with straight lines that show that the profi
increased over these months.

The profit in July was R?0, in August it was R70, September it was R60 and in October it was R50.
The points for July, August, September and October are connected with straight lines that shows
profit decreased over these months.

The graph goes up and down showing profit increase and decrease.

continued &
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1. Draw a broken line graph of the pulse (heart beat) rate of a Grade 8 learner.

9:00 68
2:30 73
10:00 88
10:30 120
11:00 77
11:30 75
12:00 72
12:30 72
13:00 100

a. Describe the graph. Use words such as increase and decrease.

b. Say why you think the pulse rate increases at a certain time of the day.
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2. Measure your pulse (heart beat) rate. Draw a graph.
Compare it with the graph in question 1.

9:00

9:30

10:00
10:30
11:00
11:30
12:00
12:30
13:00

4

Find a broken line graph in a newspaper or the internet. Cut and paste it or redraw it in your exercise
book and then describe it.
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Seleci The righiigraph

Revise graphs. Make a simple drawing and give a short description of each
graph you have learnt about so far.

/Borgraph N /Double bar N /His’rogrom N /Pie chart N /Broken line N
graph graph
\_ NG NG NG NG J

1. Choose which of the following graphs you would use to best represent your data in
the following research projects.

A. Bar graph B. Histogram C. Pie chart

a. The body masses of 500 male learners.

b. The number of students studying History at the different universities in South
Africa.

c. The proportion of seedlings in a forest destroyed by fungi, herbivores,
pathogens, frampling or wilting.

d. The number of first class degrees in Zoology for each year between 1980 and
1990 at a university.

12 18 94 9&
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e. The average number of eggs laid by five varieties of chickens.

f. The number of learners who passed matric with Physical Science, and the
number without Physical Science.

g. The size of farms found in the Karoo.

h. The frequency of students belonging to the Christian, Jewish, Islamic, Hindu and
Buddhist faiths in South Africa.

Problem solving

The following fable shows the number of glasses of water you drink during the week.

 pay | Glassesofwater |

Monday 6
Tuesday 7
Wednesday 9
Thursday 8

Friday 10
Saturday 12
Sunday 5

a. What kind of graph would not be helpful in spotting general frends?

b. If you forgot to write down how many glasses of water you drank on Thursday, what kind of graph
would be best to help you guess?

c. What kind of graph would be most helpful for quickly determining whether your water intake was
the same for two or more days?

16 17 18 10 20 21 22 23 24 28 25 2y
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To report data you can use the following

pointers:

e Aim

e Hypothesis

* Plan

e Analysis

e Interpretation
» Conclusion

* Appendices
* References

1. Use the information from this favourite sport survey of 20 learners and write a report
summarising the data and drawing conclusions.

Name Favourite sport Name Favourite sport
Denise Tennis Elias Squash
John Rugby Simon Soccer
Jason Soccer Edward Rugby
Matapelo Soccer Susan Rugby
Mandla Rugby Philip Tennis
Opelo Tennis Ben Squash
Lisa Soccer Lauren Soccer
Gugu Tennis Tefo Rugby
Sipho Soccer Alicia Soccer
Lorato Squash Masa Soccer

a. Aim

This is the general

aim of the project.

\r

b. Hypothesis

A specific statement or
prediction that you can show

to be true or false.

-

-

9
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c. Plan \ H -f ‘

What data do you need?

Who will you get it from?e

How will you collect it2

How will you record it?

How will you make sure the data is reliable?

Why?2 Give reasons for the choices you made.

19 18 17 18 10 20 21 22 28 24 28 26
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d. Anolysis ¢ This is where you do the
calculations and draw charts.

e Compare groups with the mean
and median.

¢ The range is a measure of how
spread out the group is.

e Graphs are good for representing
data visually.

L

e. Conclusions

Do your results agree with the hypothesise

How confident are you?

What went wrong?¢ How did you deal with it2

What would you do differently if you did the research again?

W 12 18 94 98
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f. Appendices
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The appendices may also

include tables related to

sample selection, instructions to

inferviewers, and so on.

It is good practice to include "
a copy of the questionnaire.

[ ]
rY
b4

rY

T

g. References

If you used any secondary
data or research you must

acknowledge your sources here.

‘/

Hypothesis: Boys prefer sciences and maths above
art, history and languages.
Use the following data set and write a report on your findings. Include

your frequency table, graphs and conclusions. Also compare the

favourite subjects of boys to those of girls.

Matapelo

Denise

Lisa

Lauren

Language

History

Problem solving

) A e
PO

Language




601

'Pa8U NOA DIOP By} BuIPI0D81 PUD BUIDS||0D UDIS PINOYS NOA PaLIWIGNS 810 sup|d INOA 1Oy} MON

n
oo Buundalg

:s1 upjd pasiAal INO

1210 $8BUDYD INQ

‘SWID3) JaYJ0 8y} WOJ) pIoay NOA Jpym uo pasng sunid INoA sBuoyd of
Anunpoddo sy} 186 |im NOA ‘supjd Jisy} pajussald ALY SWDa} YoInasal 8y [|0 82UQ

"9POW NOA $8210YD U} IO} SUOSDBI BAID) 3AUM '}

39|q0IjaJ S| DIPP Y} 8INS SXOWI NOA [[IM MOH "

k4 b
YT oq

kA kA kA k4

¥Y ¥T ¥Y ¥ 1 ¥1 ¥ Y
A kA b4 M4 B kA kA

341 PI0DB1 NOA ||IM MOH P

341 109]|00 NOA [IM MOH "D

£uiol} J1 196 NOA [Im OUM g

392U NOA Op PIOP JIPYM O
:up|d o} noA djay Jybiw jpyj suoysand 'y

| |

¢sisayjodAy InoA st jpym ‘¢

| |

£UDI03S31 NOA JO WID Y} SIIPYM T

WD} Y2103sa1 INOA JO sawbu ay]

‘WID3} Y2ID3sal INOA asooyDd ‘|

"SJIOBUSHIOM OM] JSAO OB [IM LUBSWUBISSD SIYL

\ B

‘2ouppodwl

Jolow Jo S| DIPP JO UolDIUSSaIdaI [PNSIA Y] 9]9A2 Bulpupy pjpg

B P

"oy 31d b 35N UDD SUO DJPP PIOI3I O]

v

pjop Buleidiajul

pup BuisAjoun ‘Buljussaidal
‘BuisiunBIo ‘Bulyos)|02 Jo
sseo0ud D S| Bulpuoy DI
Buljpupy pypq

9142 pupupy PR E0]

e

2019/06/29 19:08:48

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 1



soousalepRy -
soolpuaddy -

suoisnjouoD

uolpjaidiau|

SISApuy

up|d

SISOU0dAH -

wry

:sBulppay Buimo||0} 8} Jopun Hodal b ajum pUD $a|qo} puUb sydolfb NoA jaidiau

— ¥ W8N ©

sydpib 1noA Buyaidiapu|

‘ydoib jo 8dA} suo upyl alow asn Abw NOA “ydoib b ul DIPP INOA jussalday o

“WINIBDIP JOS|-PUD-LIS|S D MDIQ P

"9POW 8y} PUD UPIPBW 8y ‘UDSW 8yl 81ojN2IpD ‘g

‘abupl DIOP By} BIPINJIPD D
LT
! ¥4 *A
A kA kA k4 . |
*4 ¥4 ¥1 ¥4 ¥1 1 1 W
‘. A kA b4 M4 B kA kA

SANUIIUCDIA|DARD P pURY PIPPIRY

"a|gp} Aousnbauy © Ul DIPP INOA BsIUPBIO O

10} PAPI0D31 PUD P3}I3||03 NOA DIOP 3y} s ‘|

*P3}23]|0d UOHDWIOJU] By}
ybnoiy; o6 sdnoib 1noA uj

Jnae

. 9]9A2 Bulpupy pjpg m
_ - c

*8]9A2 Buljpupy DIOP SU§ YHM SNUKUOD [[IM NOA J23YSHIOM SIY} U]

v

1
N

‘uossa| snojaaid ayy
U] pa}o3]|02 DJOP 3y} s

e

€501
4

2019/06/29 19:08:50

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 2



(A 4k 8B

899 SN|OA WIS} Yludt Sy} [IIM {OYM

2019/06/29 19:08:52

14
9

91
€

Wiid} 3y} §o aN|PA

wis)

9€1:89 wE L1 °q 000 0Z--000 T -00¢--0¢ '©
eIny T 290 9NJOA WId} ;,0Z S} [IIM {OUM {SWIS} SAINDISUOD By} USAIM}I] OYDI JUDISUOD BY} SI JPYM ‘T

0ls 4% 9 9 ULIS} 3y} Jo 3npA
u 8 9 14 14 wia)
o)
¢ v1=9-T'} eyec9lL8e 09 ‘G :0€ .Gl P
y u wia} ayy
9+l | 9+: 1€ 44 Sl ol L | joenop
a|ny u S 14 € [4 L Uolisod
:a/dwipxg v 1z8l Gl ™o 6c:0¢:1¢ccl g 8l¥l:0L:9 D

£SWLID} DANDISUOD B} USDMID] SOUBISYIP JUDJSUOD U4 S JOYM ‘L

‘PSYSD SD SSN|DA WD} DA[OS °
EIEITEIN

*a|qo} 8y 3j9|dwo) I

‘Jaquunu snolaaid sy}

106 O} PEPPD SOM JOUM UL} SI0W

| BUIPPD JO BWl} YoDS | AQ suLidy —
SAINIBSUOD USSM|ST 9oUSIALIP B}
BUISDBIDUI SO SILj} SQLISEP UDD NOA

776 97€ 801 195 P 9-11'9:G| D 3SWIIS] SAIINDASUOD BUI USSMIST OlbI JUDJSUOD 8Uj] SI IDUAM

LLL LY T I

7-Aq

i, o7 | e i - JequInU snoiaid sy Q)_Q
G/LE ¢Sy :G6—:61 4 ¢lG 8¢l e8P Bl nlsoILS| o € 9l=-8Yv-"C

£SWIS) SAINDSSUOD S} USSM}S] OHDI JUDJSUOD JO SIUSISYIP JUDISUOD 3y} S| JIPDYM P ik} Ergipis=(e) Uk (MO,

3SWISL SAIINDBSUOD B} USSMISJ SIUBIBYIP JUDISUOD 8Y| S| IOYM

. Jequinu snojaaid \ \\
Sy} O} - BUIPPD, J0 Sl ==
.S,7— U1 Buiunoo,,
lo - Buppo,,

LI=9L %€ ey €5 Gy 16€ G 'O 8/~ '8y—8C-8l="P

‘ulellod ay| Ul SISWINU 831Y) IXaU 8y} SulwIs|ap of ajni
3yl 85 ‘eousnbaes o Ul sIaquINu dY} usamaq diysuoyp|al Syl 8gLUISP Of jNI D SAID
€l:1¢-9T:LC D 61 ‘8T 8¢ ‘6¥ 'Q L9919 1€ P

¢ pajpiauab aiam Aay} duiy} noA op MoH “ur .‘_.

bd b "Ol§D1 10 S2USBISYIP JUDJSUOD D SADY Jou Op suleypd asay] ‘¢
Y v9 ¥ mc\_wto,ﬁmo_
v : Y

A kA b4 B4 4
Y4 ¥S Y1 ¥T ¥T ¥Y wo

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 3

A bd bA Bd B4 B4 R4

‘Al




2019/06/29 19:08:53

580 92UBNbas 8} PINOD JDYM ‘G- S| 04D JUDISUOD B} J|

Aynoy

299 SN[OA WIS} ;5| ¢ SUY [|IM JOUM

05— 0e- 0¢- w9} 9y} Jo aNPA
u ol 8 9 14 14 wis)

500 SNDA WIS}y, [ | U} 1M JOUM
! £90 SNDA WIS} 4,9 SU} [IIM JOUM

L - ¢- WS} 3y} §O SN[DA
G9- [ 6¢- wJd} 3y} Jo an|pA
u el Ll YA S wis]
g u S 14 € 14 L wisy
0
290 SN[OA WIBY | | SYY [IM JOYM 1910} 8y} s dwio) £
91 4 14 wid} 3y} Jo anpA
u ¥ ¢ | wis) " 9Ny 390 ON|DA WId} 4,01 SU} [IIM HOYM
Gzl /2 8 WS} 9y} JO SNPA
:91qp} oy 9padwo) 4 u S ¢ z L we|
290 SN[PA WIS} ;01 SYY [IM IOYM
=1 590 ON|DA ULIS Byl |IM Jo
9'¢ 9l 70 wia} 3y} Jo aN|PA INY 390 an| 1 4GS UL [IIM [OYM
u 9¢ 74 91l 6 14 uis) ve Ve 7l Wi} 8y} Jo an|dA
9 u Ge GC Gl S wisy o
290 SN[DA WIS} 4,9 S} [IM JOUM
‘PSD SO SSN[DA WIS} dujWIded
wis} 9y} Jo aNn|p
GCl a4 8 1 SU} § IPA 3)n1 By} 340K
u S 4 £ 4 L - *3)qp} 9y} 9p9|dwo)

:3|qp} ay4 3p3dwo) g

I
Y w9

kA kA R4 k4

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 4

¥Y ¥1 FE T ¥9
A bA A b K4



*JoquUINU [0INIOU D S| U PUD WIS) Syl JO Uowisod 8yl st aiaym | + (u)

| + Wid} 8y} jo uoiisod ayj x

— N — N

uolisod snoiraid auj o% PPV o

Wiid} 3y} §o aN|PA

w9

“JOgWINU [DINJOU D S| U PUD WIS} 8} JO UOISOd 8U) Sl U 8I8YM G'| + (U)Z o
G'| + WIS} 8y} JO UOISOd BUYL X T
uolsod snoinaid 8y} 0L Z PPV

WiIa} 3y} Jo aN|PA

wia)

"JogWINU [DINJOU D S| U PUD WIS} 8y} JO UOISOd 8y Sl U 81aym ‘C+ (U)9
€+ WIS} 8y} JO UOIISOd BUL X 9
uolsod snoinaid 01 9 ppy e

WiIa} 3y} Jo aN|PA

wis)

A k4

JJIoqUINU [DINIOU D I U PUD WIS} 8y} JO UolIsod ay} St u aloym ‘- (u)g|
Z— WISy 8y} JO UOISOd SUF X G| e
uolsod snoinaid 8y} 0f G| PPY e

WiId} 3y} Jo an|PA

u al

wia)

*JOQUINU [0INJOU O S| U PUD WIS} Y} JO UOIISOD SU} SI U 2I0UM “[— (1) o

|- Wia} 8y} Jo uolisod 8yt X 4 e
uolisod snoinaid 8y} Of 6 PPY

=(u)¢ | 191 e 9z Wi} 8y} §o an|pA
u 8l 14 € wia)
ERIEaEIERNERIEES

:9|dwbx3

"WId} 9 Y} 0} 9dusnbas
3y} SAI9 ‘9|gD} YyoDa Mo|aq UdAIB uoypwioyul 8y} Buisn sa|qpy ay; apjdwio) ‘|

T

e [ o J[ ¢ J[ » ]

190 [IM ©2UBNDSS By} JO SWIB) XIS JSI BYL

*JOQUINU [0INIOU O S| U PUD WIS 8Y} JO UOHISOd 8y} S U 81oym ‘| + (u)g :¢ uoiduoseq e

(u)g + |
(ot)e+ 1
(P)e+ 1
(ele+ 1
(Tle+ 1

€+1

RUTIETRNY
QTR
:uia) yunod
uusy YL
:WIS} PUOD8S
sy §si4

wia} 8y} Jo aN|PA

wis)

‘| +( wisy oy} Jo uonisod sy x ¢) iz uonduoseq e
‘wis} snoiaaid sy} o) € ppo | uolduosaq e

eLol Ly
‘SAbM

Juaayip ui @duanbas b Jo ajn1 sy} 9quUIsap o} Buioh 21D M J2BYSHIOM SIU} U]

SRAN|PATINAINOIPUD

S%_ﬁ%@

—
01

4

‘Al

2019/06/29 19:08:55

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 5




Bujajos wajoid

“JoqUINU [DINJOU D S| 1 PUD WIS} BY} JO UOHISOd 8U} Sl U 818Um GZ'| — (4)o| e
GT'| - Wiaj 8y} Jo uolisod 8YL X O e

Wiid} 3y} §o aN|PA

u 24 4 € 4 l wis)

“JoqWINU [0INEOU D S| ¢ PUDWLISY 8} JO UOWISOd 8y Sl U S1oym | + (u) w .

| + Wual 48yt jo uollisod syl X w .

wa} 3y} Jo an|pA
u 44 14 € 4 | wis]

“JoquINU [0IN{OU D S| U PUD WISE SY} JO UOWISOd 8U4 S| U 8I0UM 6’| + (U)Z o
G'| + WIsl 8y} Jo Uolisod 8YL X g e

Wiid} 3y} Jo an|PA

wis)

290 ULISL y U SUY [ IDUM “ULIS) PAYL SYY SI | + (2-)E 4l

“JoqWINU [0INOU D S| U PUD WIS} OU} JO UOWISOd BU4 S| U SI10UM ‘C+ (4)9 o
€+ WIS} BY} JO UoISOd BUFX 9 e

WiIa} 3y} Jo anjpA

44

wis)]

*JoqWINU [0INOU D S| U PUDWLISY 8} JO UOKISOd BU S 1 18UM ‘Z— (U)G]

Z— Uil 8y} Jo Uolisod oyi X G| e

8¢

el

W13} 3Yj §O aN|PA

Al

L

wia)

“Jaguunu [oinjou
D S| U PUD WIS} 8y} JO uolsod ayy S U a1eym ‘|- (u)g| e

|- wial 8yl 1o uolisod sy X gl e

Wi} 3y} Jo an|PA

8l

wia)

*a]qb} Yyona Mojaq UaAIB uoybwiiojul ay; Buisn sajqo} ay} aya1dwo) °|

I
Y w9

kA kA R4 k4
Y ¥ ¥1 ¥Y ¥9 w9

A bd A Bd B4 kA

‘a|qp4 8y} Buis|dwod

Jaquinu [pInjou

D S| U PUD WIS} Y} JO UolIsod 8y} Sl U aJoym ‘|- (u)g e

mpadiey joyysepns
mM_.m\Mom mm_zunm_w 3 _m_v_._ |- W} 8y} JO UOIISOd BYL X 4 o
[-u6 191 Ge 9C Al 8 Wwiis} 3y} Jo sNnIbA
u 8l 14 € ¢ L wia)

pRAUIUoRISIN|DATINAING PUL.

S%_ﬁ%o

—

Al

‘0

(\]|

4

2019/06/29 19:08:57

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 6




Bujajos wajoid

sulappd uoB|oBo0B D Ul WIS} Yl SYL SI IDYM

SUOID3S JO JaquinN

uwiaypd sy} ul
Wi} 8y} Jo uolisod

uiend (sepis 4| Uiim uobAjod) uobposppauul o

SUOHO3S JO JaquINN

uwidypd sy} ul
w9} Yy} Jo uoyisod

ulappd (sepis 0g yiim uobBAjod) uobBpjuooniuad ‘p

SUOHD3S JO JaquInN

uiaypd sy} ul
w9} Yy} Jo uolisod

ulaynd (sepis 000 | Uim uobAjod) uoboiyd o

SUOYISS JO JaquInN

uwiaypd sy} ul
w9} 9y} Jo uolisod

ulaypd (sepis

€1 yim uobBAjod) uobpospioNsu] g

SUOID3S JO JaquinN

uwiaypd sy} ul
Wi} 9y} Jo uolisod

Y ¥1 »9

A kA k4

ulayipd [puoBoOUON ‘D

UXU oL X0l GXG 7 Xy £X¢

= L=
Xz X1

Mo ool | s¢ | 9L 6 4 L

SUOO3S JO JaquInN

usaypd sy} u
w9} 3y} Jo Uolisod

‘'slaquinu aIonbs Jo usypd :9jdwpxy

2] Sy} Ayuap! pup a|qo} oy j9jdwiod |

gxu| 09 v¢e | 8L | ¢l | 9 |[SUOHOSs jo IsquinN

u 0l 9 S 14 € [4 L

suol0as uobpxaH

apis Jad

‘we) 8y Jo v

uolisod sy sl u

=9XU= uoboxay yu

09 =9 X 0L dpis jad ,suoldss, 0L =  UoBDX8Y YU L
¥ =9 Xy episied suoloss, y = uoboxsy yunod
8l =9x¢ opisied suoloss, €=  uoboxay piyL

21 =9X¢ 9pIsad suoioss, g = uobpxay puoodas

"8pIs Yona 0} ,UOID8S, MaU 8UO PPD :8jni 8y]
£90 UIalnd |XaU U} (M JOUM

9 =9X | 9pIstad ,uoldss, | = uobpxay isli4

*3|g0} D Ul §| PIODSI OS|D UDD SM

(9x2)

(9x1)

:uieyibd uoboxsH

*3[N1 D dJUM pUD BuIMDIP By} puS§Xg

—

SuiRled oEwEowOwM\.c_ v

‘Al

2019/06/29 19:08:59

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 7




2019/06/29 19:09:00

390 90U2Nb8s B} PINOD JOYM "SI} YOS ¥ A Joquinu {so| 8y BUIpIAR
AQ PaNUiUOD S| uIapod 8Y] “sioquunu O 8NjPA 8y} BUISDaIOSP SD [[oM SO BUIsDa1oUl AQ UY}0g HIOM
upd 80uUsNbas By} USSS 80 UDD SO ISASMOY “J8gqUINU YO0 USaMIad ¥ JO JI0JOD) D SBY 82Uanbas siy|

Bulajos wajoid

4 671 'S 'S ‘| Sl @2uanbas sy} a10je18Y] LS S| 8Jnl 8y
S szl|se| s [ 1] enea
u ez wia]
3Ny
:9|dwpx3
*9|qp} 9y} 9}9]dwiod puDp ‘10§ SjNI D M ‘L
L SN|PA
| wis) T N & .
¥ Wwisj sy / 0L Wis} ay} ‘|- "o U Wie) 8y
. Unyy I9|Iows suo st UDY} JS|IoWS 8UO §|
° € Jo Jomod ay4 o] 6 10 Jomod sy} 0] UDU} JSIIDLUS BUO S1
| u Jo Jemod sy} 0]
‘e wisl sy}
||Ny Uy} JS[JOWS 8UO S| " = wiel yiu
T jo somod auy} o] 10 [XTXTXTXTXTXTXTXTXT = WETRVIVEY]
¢ 1o | XZTXTXT = wlia} yuno4
anip . ¢ 10 LXZTXC = st payL
. IPA [ 2o 1XZ = s} puoosas
| wid) UDU}IS|OWS SUO §| 2 10 | = wiiay 4siid
1 Jo Jamod sy} 0] © - :
P
2 2 38 4 4 l SN|PA
u 0l 4 € 4 L wis)
3Ny
;| 9| dwpx3
L SN[PA 3090UaNnbas 8y} Ul SWIS} 981y} 1XaU 8y} 210 JOYM

I
Y w9

kA kA R4 k4
Y ¥ ¥1 ¥Y ¥9 w9

A bd A Bd B4 kA

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 8




I

L |
kA

601

~

érl

144

A

9Cl

vl

e

Y *9

L T L |

Yy rq
b4 b4

4

6C

O

A%

o v
w <

N

|

L)
b4

b4

Aynoy

‘swpiBpIp Moy Buimoljoy ay} apejdwo) ‘g

BISHIDUM ‘==L UIM 1= € X I =}l

02/

8¢¢

48

N

[44
Ge

4!

9¢
0c

¢l

/

8

d

ol
L] L L]
| d q
D)
[T~ 6
al/ \ /
P ainy
6= €
0] L 0|
1 d

“WIDIBDIP MOY BY}
ul anjoA {ndul USAIB AISAS 10J SN|DA
{ndino sy} BulpNDIPD 104 8|NJI By} PUI4

SRN|PATINGING PUB! INAUI UEIDUG|A

Gl
4!

A

d D

‘swplIBpIp moy Buimojjo} ay} apsjdwo) °|

(L+ex6-=1)

(+exsz==1(L+ex5-=1)
(L+exe-=4(L+ex0=4

9¢-

o\

(ﬁ)

3|ny

i

"d Jo aNn|pA

4oDa 10} | JO 8N|DA 8y} 81D|NJPD

'ssnosiq ‘sajdwpxa ayj §o 3007

p—
601

4

‘Al

2019/06/29 19:09:02

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 9




2019/06/29 19:09:04

"T'L°0 1= T '€= UHM B|qR} D UISIYL MOYS 'y —xZ—= £

Aynoy

0l 4
0oL | 05 | O¢C [4 0

*3|qD} dY} Ul MOJ WIOKOQ
3y} ul asoyy pup moi do} ay} Ul siIaquInu Yy usamjaq diysuoyplal Y} aquIsaq

10g - = lg-=

| -00€ - 1-0g-=

L -(ool)e - L-(ot)e-=
| =Xg~

(4 .

- ¢ : 1-9-
L-(ele-=
|-xg-=4«

*U pUD W JO SSN|DA SY} UMOP SIM USY] "3|gD} 3y}
Ul MOJ WOKOQ pub Mol doj ayj Ul siaquinu ay} usamiaq diysuoypial sy} aquasaq g

001 0S 0l
*SaN|DA X USAIB 8y} 10§ A puly ‘| - Xg — = A S| MO[3q 3|} ay4} ul A Buipuy 10j a|n1 ayy §|

sve | 812

L] 9 : -

*1 wq ¥ Sclfoiolly o (VLA

_._..._.r._..h_:______:____ .
Y ¥ ¥ ¥4 ¥4 91 ¥4 _ ‘

A bd bA Bd B4 B4 R4 e

I

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 10




AL 8B
.‘ 62l
]

2019/06/29 19:09:06

£MOU IpUDYL
e SI P|O MOH *81ydog S PO SO 82IM] 8Q |[IM IPUDY] SWI} SI0BA ¢ Ul *a1ydoS UDY} 18p|O SI0BA 4 SI Ipuny] B
8=8 o
4= =Y UBUM £ 8J0|NDPD ‘| + X =4 Y °} s

8=(r-) ¢ - ¢

. 310qUINU 8UL S IDYM '8 SI “AlUSMI AQ PESDBIDBP Jaguinu D seWl # 8 A

9= xz- ysal 8 X
. £19QUINU BUJ S IDUM €4 S JOGUINU D SSWIL € P 8= -
3 JO SWISL Ul g YIBUS) S (M JOUM ‘WD XE S| YIPDBIQ SH PUD ;WD (XZ| - ;X9) I 9|BUDIO8I D JO DI 8yt )| "0 —mv_w pupy 1YBry = 8pis puby e z- Aq uolpnba sy JO SSPIS UIOQ SPIAIP UOLDNDS SU} SA[0S O
. WD + WO XZ YIPDaIg pup W ¥y YiBus| Yiim ajBubioal b J0 DaID 8y} 810jNJ0D g Q = X7~ JI X JO} SA|0S
‘(05ed = ¥+ 56d) :o)dwipxg

5065y $1502 1Py} oWDH JeJNdWod B ANG O} PesU 8y SEOP SI0W YdNW MOH "pusds O} G4y SPY Uyor ‘D
‘uoynpysans Buisn JOMSUD INOA §S3] “X 10§ DA[OS °T

AjAOY

9-=9-X¢ '} —=9-XC-'® y—-=8-%C P 6~=8l-Y" y=¢l-X"9 y—=v+X°Pp
9=0l-*8 ° ¢l=G+%X. 9 [l=1+XG 'O
g=¢-x D 6=/-%X"0Q 8=¢C+X D
7=X
€ € st
9 "1 =6 9-6-=9-9+7
'€ Ag uoloNbs sy} JO SSPIS Y40g SPIAIP Usy] 6-=9+Gl- 4= 94X
SHI=sH1 e =9 +% 4sa1 :9)dwipxg
l=/=1-1+2*¢

‘uoinysgns Buisn JSMSUD INOA JS3] *X 10§ BAJOS °|
L=1+  :3dwbxz

Cl=¢+

‘uolnjisans Buisn 19MSUD INOA Js3] °X 10} SA|OS '€ "9000Id SIHII B Yjim ‘suoljonba ‘siequinu

06=0l +4X¢ suolpnba so umop BulAydwis PUD $8|QPUDA

USHUM 84 AlISpa UDd 0} JsIXe Sa|nI - Bulolal 1o} [njasn

8=G+/ sws|gold piom Aupwy a|dwis Auoyy 2Ip suolpnb3
X= 4 6=X 's9]dwpXd SWOSs aAID
99 =X - 9G =X/— "9 1T—-=%6 P Gleb=6l ‘pNba a1p suoissaidxe o slequinu
- :suonpnba OM} §DU} JUSLISIDYS D S| UOKDNDS UY
5=5 40 se|dwiox3 Zuoyonba up s| oym

v
SuoPNbIDIPIGRR|NV AN T L]
y4

[ Y

9l =X¢-"O
I
Y w9

kA kA R4 k4

1
=
=]
b1
k|
e
&l
=
2
g
2
%
o
™
«
o
g
g
2
=
=
=
©~
>
&)
o
jast
5]
<
=

¥Y ¥1 FE T ¥9
A bA A b K4




€ L 0 - v
S+¥p-=4p

AN R
9+x%5=4"q

I
Y w9

kA kA R4 k4

¥ P ¥T w9
A bA A b K4

Aynoy

|=XZ— "1 =Xg | +XZ- | + ¢ :Aq pauyap sydoib Buimo||o} 8y} 810dwo)

c+xg=4 D

NI

L3 __._..____
kA

Z+xg =40

‘sjuiod ayj uiof pup aup|d ubisapp) ay} uo (£'x) juiod yoos jojd ‘uoypnba Yoo
3y} 10} £ jo san|pA 3y} Bujujwisiep Aq molaq so|gny} ayj opddwio) ‘|

SIXO-X

¢+9-
T+ (2le-

‘sjuiod ayj uiof pup (pub) aupjd upisapp) ay} uo (4x) juiod yoos joid 'z + ¥¢ —= £
uoypnba ayj 10} £ jo san|pA sy} Buiuiwiaep Aq Mojaq 3|gp} sy} ajs|dwo)

=£

EEEEEEEEEEEE]

"
4
 AALEANNEE VAN SASdaRddddd,
(z0)
L
L -
- (i)
-
r
’
SIXD—A
l-= = G= L=
T+E-= ¢+0= C+E= C+6+=
z+(l)e-=4« z+(0)e-=¢« z+(l-)e-=4 z+(e-)e-=4«
v= = 4 S Ll €
‘SI0d PoIOPIO
210 958y 4 L 0 - €= x

—

2019/06/29 19:09:08

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 12



ANOY

|+ X =01 +4-=£|- =] - X = £:Aq pauysp sydoib Buimojo} ay} aipdwod

l-Xz=4")

€ L 0 = | v

§-;¥=4p

P

Y, 9

L T L _
¥ ¥ vY ¥o w4

T L L

-

-

G+,x=4"q y+,x=4"D

‘sjutod ayj ujof pup aupjd upisaup)
3y} uo (£'x) jutod yopa jojd ‘A Jo SSN|DA 3y} SUIWIDIBP O} MO|Sq suoypnba ay} asn °|

2 %00|
T +==410}
Ydoi 0 [lim Joum

U JUBIDAIS D S| SIuL

”..-T__._ parg=d
Tu..t
__.._.—__.._ |
woy |
! 4N
. I
9 € 4 € 9 8 9 14 4 0
4 | 0 [ 4 4 | 0 1= ‘e
C+¥= 4 y+XC = q

sydnib om} ay} aipdwo)

v

stolphbI2191G6|P m\_ozw.um_ I
- 1}.

1 X

2019/06/29 19:09:09

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 13




LSO

—
e
xR
<
N
=
o
S
N
o
<)
<
X
)
1=
Q

m:_mcm._owv m:_mcm._oc_
1) { 8 L 9 S 14 3 [4 ¢
L 4 A 4 A A A A 4 A 0
[4
14
FSE 3109 el
FEE DI | el
Q
JUEISU0T) e
oaul|
8 Joaull-uou
_| wnwiuiw
+ 01
4
‘sydoib aquossp
wnwixow O} SPIOM JuBIBHIP
‘SosaIoul 21D a1oy)
BDN|OA-X 3] SO SBSBI0BP ®3_0>|> By} UBYM sespalosp aull O JO ®Q0_m oyl nm:_mom._omn
‘SosaIoul

3NJDA-X 8] SO $850810UI 8N|DA-A BUI USUM $8sD8I0Ul Ul b jo adojs ay] :Buispaiou)

'ssnasig ‘sydoib ayy 4o 50017

'SOSDBIOUI ONIDA-A BY} IO SNJDA-X BY}
S)IlYm SWIDS 8Y} SUIDWSI SN|PA-X U} JO SN[OA-A BU} USUM JUDISUOD S| SUJ| V :jubjsuod)

v
L

v wq

A kA A k4

SYERIB W) PUR NP ISAWR) _
:SUAPUBIBUIMBIP PURI Bl SuaiRL &3 I >
F118

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 14

*Y Y1 ¥ ¥ ¥4 ¥Y ¥
A bd bA Bd B4 B4 R4



BuiAjos wia|qoid

Jaqwiaoe(Q

J8GWSAON

1800}00

Joquiajdas

snjsnBny

Anr

aunr

ADW

judy

YoIoW

Aloniged

Alonuor

‘abpd snojaaid ayj uo ydnib ay; buisn aiqpy siys d1dwio) g

‘sesoydsiuiay UIsyoU pup uiayjnos
Sy} ul Ajunod Aup 10} AjpNUUD sainipiadwa) WNWIUIW PUD WNWIXDW 8y Buimoys ydoib o moig

34dolb Siy} WO MDIP NOA UDD UOISN|DUOD JDYM -

390 ydoib INoA Jo Buippay Sy [IIM IOYM *

3SIXD—A BY] JO 8|S 8YL S| IDYM O

3SIXO—A JINOA UO USHUM S IDYM °Q

wuw 0€

'
I

L |
kA

L
LR

e

Lok}
k4

Lk}
A

re
b4

4

L)
b4

b4

L& |
[

vy
b4

*JOSUII-UOU puD Joaul|

‘Buispaidsp ‘Buispaloul :spiom Buimoloy syl Buisn ydoib sy} equoseq

v ¥
TR

4

abpIaAD
up pa|Ip2 8q
0S|D UDD UDBW

280 AON JoQ das bBny

0l

(/4

oy

05

09

(074

REAILERISTERY DTOWI PUR AN D IDAWR
:SUARIBIBUIMPARIPURIBWUIIDI U]

(D) @INDISAWIS} WNWIUIW AP UDSW __g

(Do) inyoIadwiay wWinwixow AP uoey —@—

INFunf Abw

‘ydnib sy} Buisn mojeq suoysanb ayj Jamsuy °|

3SIXD-X INOA UO USIIM SI IDUM “O

(W) [IojuID [OJO} UDBW -

dy Jow Qo4 uor

4
widl

y4

2019/06/29 19:09:13

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 15



2019/06/29 19:09:15

505 ADS NOA OP AUM 3PHOM BU} Ul 1094 Jad |[ojulbl §sayBly ayj SOy AHO/UMOY UDIUM

BulAjos Wa|qoid

‘supaw aAoqp B uoysanb uj poynbag JPYM Jno puly ‘7

3APUIM BID SYIUOW/YIUOW YDIUM )
&l1oJuol jsoybly 8y} SADY SYRUOW/UHUOW YdIUm "o
sainyoladway 1saybly sy SADY SYLUOW/YLUOW YDIYM ‘P
(%) Aupiwny aAypiay 'y (pojnpag) paads puim abpiaAy ‘b gsn Bulljo} sHo-A 8y} | joum
&sn Bul[} SIXD-X S} SI JOUM ']
2ydoib ey} Jo Buippay 8yy s IbYm o
:suoysanb Buimoj|o} ay} Jamsup pup ydoib ayj jo oo] |
App 1ad sinoy jybijuns abpIaAy ‘) (ww |'0<) sApp JoM @
W apary avgtiy —— (L€ o) piud, g, By ——
A ag VmOw By, W ey —— powi 10 Q) Vg e —
FALY) O P Mg e 00 Sasy WP
1200 Sy wesmny w— 1200 ) gy —
¥ MNP0 4 By oy ey M Xy mn Gy W
(wd) uoypydidalg ‘p (2,) dwa} abpIsAy 2
(w £sp :apmpyy) ydeso anewp edoin
(2o) dwa} xow *q (2o) dway "uiw 0

iAym
@cﬂmw_%wﬁ %%MNM% PUD JISIA NOA [IIM YjUOW YDIYM "YJUOW D 10§ ALJUNOD SIY} JISIA O} PSPIDSP SADY NOA
Jo8UI-uou Io8ul| = .‘
‘Buisn Buimoljo} y} o Y203 3quIsaq SUEARIBIIWIL pUR! |4 IR
SYARIBIbUIMPUR PUD buididiRuTaa NS | |
_. y4
|

[
Y *9

L T S _
YY1 Y1 ¥ ¥1 ¥Y ¥Y _.._

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 16

bd b4 bd bA A B4 B



2019/06/29 19:09:17

*JOBUI-UOU IO JDBUI| ‘JUDISUOD ‘9S08IoU] ‘95PaI09pP SO YINS SpIom Ay Jo asn Bupioul ydpib o aj0a1)

ApAyOY

*alay aInjoid D 8jspd 10 MDIQ

awiy

2

*OPU Of SONUIUOD UBY} PUD ‘}s81 O} SAoys
‘SOPU JSII0AD BY] “8XIg D UO SBpPU JSI[OAD D DY} 92UDISIP 8y} 89
PIN02 ydoib siyi 0} puodsalod piNod Joyi uolpnyis 8|qissod v awil|

'ydoiB 8y} 0} SPUOdsaLOD JOY} UODNLIS ¢
s

*S9SDAIDUI PI|[OADI}
9OUDJSIP BY} SO $9SDAI2UI UIDOBD 90U SWIl 8Y} USY] o
‘awll} Jo pouad o
10} JUDJSUOD UIDWISI USY} P|OADL} SWIL PUD 9DUDISID 8y o
N

2ouplsIg

'S9SDBIOUI PSJ|SADI} SDUDISIP SUj} ‘S3SDAIDU S}

SO JOY} 985 UDD NOA “Jybu 0} 1a] woly ydolb ay} 1o BUN00] v

‘ydpib IpBuUI-UOU D SISIY] e :9]dwpxy

‘ydnib ay} o} spuodsaiiod
Joy} uoypNyis D P31 Udy] ‘Mojaq ydnib yona ui buuaddoy si joym aquasaq ‘|

oy

Josul| —-UON Jloaur JUpDisuo) 9508108 ISNeCTolV]]

4203 Jo Buimbip b Bupbw Aq MOJaq SPIOM SU} SSIASY

v

SyapIb buIdiD 9 _._A
1%

[
Y *9

[ T T A _
Y1 ¥4 w7 ¥7 ¥Y U _
bd b4 bd bA A B4 B

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 17



eyl

& PINUNUOd “SIXD-A 8Y} UO 0JezZ YBNoIyy

2019/06/29 19:09:19

Allo}uozIOY SUNJ SIXO-X 8Y]
- Lh
1
O '
£
OL &4 8 LY S PET Lo OL & 8 LY S PET Lo al :
o B < v
. 1 [ {5
z T *2Joy Wolj BUlyiAIons ainspawl NOA 19
¢ ¢ quiod 0, 9U4 L
v v SI SIXD—A U} $8S501D SIXD-X 8} SISUM \ ™
§ § 1 ‘
‘ ‘ 7
¢ ¢ oL
o i 'SIXD-X 8Y} UO 0187 YBnolyy
" " AJIDDILIBA SUNJ SIXD-A ay| \ 4
oL oL
"A pa|Ipd s| uooalp (jod1eA) umop-dn 8yl sixo-A
v v
-
(e:2) (g:g) o "X P32 §l UoLBIIP (jojuozLoy) JuBL-1ja| ay]  SIXO-X
SIXD=YX pub —-A
SIXD-A 8y} dn spun
po-eurdnsiune oL68 L9 SV eET Ll o
SIXD-X 8y} Buojo spun 9
L
oL B L YSPETZT L o
€ z
. “ *dn spun z pup ‘ssoJop spHun Q st (2:0) | €
¢ *dn spuN ¢ PUD ‘SSOIOD SHUN Q] SI 14
v “dn spUN Z pUD ‘sS0J0D SHuN G si (z:s) S
” *dn spuN ¢ PUD ‘SSCIOD SHUN 9 SI (4:9) 9
¢ *dn sjuNn g PUD ‘ssCIOD SHUN € SI (8:€) L
L '$9}DUIPI0—0D JaY}0 8y} 0g 8
é
)
ol =
“dn ] =
< sjun Z pup ‘Buojo syun 6 st (£:g) yuiod ay) £
=
o
e 9qUISap pub BuIMO]|0) U} JD 00T :UOISIADY 2
“Way} 9qUISSP PUD S3JPUIPIO-03 aY} JOId 'L NCU_Q :U_WN._LUU £
k4 b =
" v e AYIIBWIRNpOUIUI PUB HUISIAD 5
A A 4 4 m
=

Y1 Y1 *Y ¥1 ¥1 ¥d A
A bd A bd b4 B4 4



I

L |
kA

L
LR

e

Lok}
k4

Lk}
A

re
b4

4

L)
b4

Bujajos wajoid

o <

O 0 6 O O o

(c:g) B3
:o|dwpxg

*9JDUIPIO-0D SIU} Ypm uiaypd
B0z61z D WO} 0} S{UI0d IBY}0 INOJ UMOP S1LM “dNn SHUN OM} PUD SSOI0D SHUN JyBid :Buimo||0} 8y} 40|d

e crsrETie

o]

B3

’..N‘O.ﬂﬂ—

b4

L& |
[

Y ¥4 ¥
A B4 b

:BUIMOJ|O} U} 10§ SD}OUIPIO-0D U} UMOP SIM T

e Lrsrecei

F B L L B L

<€

(v'z) )

e s rece

F B L L B L

(0:

penUieafaUP|d USRS,

S)p

AS..~.¢.vnn. 0]
]
4
t
r
§
’
L
‘
]
\4
(1:1) o

A!o.so..»n. 0]
|}
[ 4
t
r
§
’
L
L]
‘
]
(6:0) 0

v

Y BUIRNPOU I pUR mc_m_>wmw.lﬁ:

Wy s

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 19

2019/06/29 19:09:20




*SIXO—A 8y} BUOID SHUN § UMOP UBY} SIXD-X 8y} BUO|D SHUN € PIDMIO) 0
sIXD —A 8y} Buolo spun £ dn o6 usyj SIXO — X 8y} BUOID SHUN ¢ }ID] 09 »

:aup|d UDISBHIDD 8y} UO suolyisod sy} puly

Bujajos wajoid

g1 e AR

H
|
:

e R vy YOS K

-~

.
1

»
;
'

13
.
4+ Ja. 4+ o
.

.

:

(e=1)q Il .

b4

L |
kA

L
A4

e

L |
k4

(e:1)o

*sIx0—4 8y} uo ¢ dn 0B usy} puD SIXP-X 8y} Buojo g 3o0g 06 supaw (G:g-) :9|dwpx3

:BuImo]|0} By} 3qUISIP PUD SIXD-A Sy} Uo joid ‘L

L}

A b
v

L

b4
*rY »¥
A kA

4
L)
(R

Ak b

”l..h “I__u. F_”.

(p=£=) pup (p=2) (y:2-) (piz) o
(6-9-) pup (6=9) :(6:9-) (6'9) o
(e-'z-) puo (¢-17) :(e'z-) (e'T) o

*SPIOM Ul Juiod yoos aquosad

,9547,,..

*sIX0=A 8y} UO ¢ UMOP OB UsY} pup
SIXD-X 8y} Buoip G 3opg 0B subaw (g-5-)

“sixp—-4 8y} uo ¢ dn ob usy} puo
SIX—Xx 8y} Buo|o G 3o0q 0b supawi (g:5-)

—d———
.
|
]
|
-

Ay sn Jo A : . :

sixp—( 8y} Buojo umop ob

SIXD—X 3y} BuOo|D spIDMYODq OB o

oM s1aquinu aAlpBaU 104

* uiBlo ay}, swpu
[p10ads oy} UsAIB

s (00) yuiod ayL /

gleasinever ’

‘dn-umop
Buiob Jayio sy} puo
1yBu-1a| Buiob suo ayy .
Jayyeboy seul lequunu .
OM} Ind M §I SO 1} v

2995 NOA Op IDYM

= ¢~ € ¥- G-
I T T O 1
| L

o+
o
©

~

o=
[roym
~—
[So B B
~N—-
o

"DWWOD D AQ palpIndas aIo siequunu ay|

“J9pJO [010ads B ul
siequinu Jo Jipd o S|
Jpd paleplo uy

*sJlaquINU 8yJ pUNoID INd 81D $8sayIUaI0
up PP i (§'¢)
'SSNOSIP pup PoAY

JIod passplo,,

2019/06/29 19:09:22

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 20



I

L |
kA

IDYM *S8JDUIPIO-0D 8Y} 1O8UUOD)

Ajagoy

*JUDIPOND YHNO) PUD P} ‘PUODSS ‘4l SU4 U SSYDUIPIO-0 JO|d

3MDIP NOA pIp UoBAjod

..
.%.Oosedxna. A
|
e +——r—gor
[ = S S 44 o B4+
| + -
4+ +———fo-
H...... 4 4 o e

| |

_7 ] -
Q‘.;.¢ +—+—+feor
+w Hd

"1 JuDIPOND )

“AlJUDIPOND P

e

Lok}
k4

re
b4

*aAllIsod s X AlUO *q

A4 k4

¥ 1 w9
b4 kA kA

“AlLUDIPDND “©

‘aAllsod s A AuQ 2

e
k4

oAlpBBU aID 4 pup X :

"9AllIsod 81D A pup X ‘D

(6=L1-)
:9)dwpx3

:31DUIPI0-02 YID3 JO|d :3SSY} JO YO0 10} JPUIPIO-0 b JO 3|dWDXd UD JAID °§

2019/06/29 19:09:24

(5'8-) o (=1)q (e'6) ©
‘.1 JupIppNE,, Ul sl juiod ayy 0s ‘eAlysod a1p A pup X yjog
*dn spun z pup ‘Buojo spuNn G st (z's) :ajdwbxy

19dpd Jo 9291d b uo aup|d UDISOHDD UMO INOA MDIP O} SADY
NoA jpyj} 9joN ‘aupjd UDISSUDD D UO } JO|d "SPIOM Ul S}PUIPIO-02 Ydpa uipjdx3 ‘g

Al

EWIS[eEIN n

(9:8-) I
SAIISOd !

sojdwpxa aAl4 (jooaA) 4 | (jpjuozuoy) :x junipon®d

"a|q} oy aj9jdwiod °|

“SPIOM U] DUIPIO0D YDA UID|AXS PINOYS NOA
*aup|d UDISHND By} U Wayy jojd uay pup jupippnb yona woilj seidwoxe aiow G SAIB siipd uj

D s -~ -— -

(8-%) :01dwipx3 "aAlLBAU
S| 4 pUD SASOd S| X Al JupIPONY)

(8-'7-) :51dwipx3

)
‘oApBaU 10 € puUD X Yjog il jupIppND . ISR NEE. :_lﬁ —te
(8:%-) :o1dwoXg “oAlsod v. - | +—ted .
SI 4 puo SAlPB3U S| X 11 JURIPPNY S R B R D N B A R f

(8:%) :o/dwoX3
*aAls0d 810 4 puD ¥ Yjog 1 junIippnd

ISJUSWIBIDYS 58U}
JO Yyops uip|dx3 ‘sjupippnb 8y} [egp7

‘sjupipoNb : $44 . W :

a5y} [P0 oM “se2a1d ¢ ojul dn 8opds
S} SPIAIP SOXD A PUD X S} ‘SSN|DA 1111 Tttt
SAIIPBBU SPN[OUl DM USYM Oy} 8D1ON EEEEE 11 *. EEEEEEEE!

611
4

‘Al

SlupipRAbrINOLs:

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 21




2019/06/29 19:09:26

A ydoib ay} aquoseq

Aynoy

SNJOA WNWIUIW 8} SAID SNJOA WINWIUIW 8} DAL

A A
e |y | X ey | x

NN NN A ENNN N NN NN AN NN NN Z+x=4q p+x=4"D

NSNS NN EENNNENENNENE NN !
‘ 4 b4 ‘ ’ ‘ $
“ _ _ A ‘ydolB o wioy o} spuiod ayy ulol e

o *oB0d Jxou 8y} U0 suUD|d UDISSIDD) 84 UO Spulod 84ouIpI0-02 ay) jo/d o

T AEEEENEEE NN NN NN NN AN NN :uay} pup ‘uolpnba ayj} 10} sipd paispio jo 3|gp} ay} e dwo) ‘|

b - o + + e e e B e | 4 oo o4 - ) B4
. ! ! ‘ : ! : | | 4 . 44 . |

4 ‘ ‘ B ‘ ’ ' ’ : +1 . seen

I ALALLALLAZALAREBARRAREYLLL B ER AR LLELUULLELLE: i

| (1] [T 1 ] RS
. ‘ - t + t 14 L R ] . ' | ”

+ + + - - + - AL Lalitd ]

4 B 4 4 + b $ +4 $ “.
. 4 . * ] L 13 .4 4 .ﬂﬂvmaocmlﬁ; wU»_U;QD ‘e .m ‘e
$ + * * L 23 $ ’ e . . >

it suado J| *(€'0) 0= X 1o _

: : : .. : - € JO 8NJDA WNWIUIL - - -

+ 1 t ++ t H posoypogoodayy :
. H + - + + 4 W. 1T I
1 BRI 1 1 1 6l= L= e

g+9l= C+6= g+ =

S+ =4 C+8=4 C+0=4

= = = L= Zll = 6l =

g+ 1= £+0= g+ 1= S+ = £+6= g+91=

C+ol=4 €+0=4 €+ (l)=0  g+,t)=4 € +7(€) =4 €+l =4

d 6L | ¢l | £ 4 € 14 LTl 6l| A

[uIod WNWIXOW 8y} 9AID SN|OA WNWIUIW 83U} DAID
14 € 4 L 0 =l |e || X
7 A A
'aquUIsap pup %007
-]z

Y »+«
(L L

siuiediburie|diAgisydpiubibuime:

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 22

Y Y v
bd b4 B4 kA




‘awIDs
2y} sApys adpbys ay|
‘abpwij [puibuo sy} SO
97|s SWIDS Y} DY {

"aul| 0 JoA0 diy D S| 4|

‘Buizisal Jo Buiddiy
‘BulpiOI INOYIIM
Buiaow supswi ||

‘awps

Uy} sApys adpys oy
uo jutod Aup o} 8Jus8d
oy} WoJ} 92UDysSIp 8y

‘aluad
0 punoio Bujuing

(souw)

dif4

‘aul| a)uad Y}
WO} 92UDSIP SWIDS
oy} si juiod Aloa3

"UOIDBIIP BUIDS By}
PUD 92UDJSIP BWDS
oyl aA0W Isnuw adoys
oy} Jo juiod Aioag

"QIu8d
Oy} puUNOID BJ2II0 D
soyow juiod AloA3

*MoJaq 3|gp} Y} Ul sa1nyoid 10 pIOM ‘SWIDIBDIP By} sjudsaIdal Joy} UOKDWLIOISUDI) D SAIS

“UOIDISUDI} PUD UOIDIOI ‘Uol108 |8l Buljussaidal sainold pup spiom
‘SWDIBOIP SNOLDA PULl [IM NOA 860d [XaU Syl UQ "UOKD|SUDI PUD UOHD}OI
‘uoljoayal Jo sUoLIULSP 8yl 8siAal Of BUIOB 1D NOA 183USHIOM SIUL U

(eSIARL) VNI iSUf.]]

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 23

2019/06/29 19:09:29



AL 9B

SIXO-A B} 19O (619 {(/=Z-) {(e-Z-) *a
SIXO-X B} 1OAO (g9 (/= 1z-) t[e-z-) o

'SIXD USAIB 8Y} JOAO 8UO YoDa Jo88l Usy} pup aupid UoisapnD ayj uo sabupuy Buimojjo ays moig

AjAyoy

30BUDYD $810UIPIO-0D YDIYM

39BUDYD $81DUIPIO-0D YDIYM

30WIDS By} UIDWAI $910UIPIO-0D YDIYM

SIXO-" 9Ul JOA0 Pajos|al sl DgV

59WDS 8y} UIDWISI S810UIPIO-0D YDIYM

“SIXO- 9l JOA0 palosyal sl DgVy

8I0 0,4,V 4O $81ouIpI0-02 8y|

2Io [ D,4,V 10 $8lbuIpIO-00 ay]|

21D DGV JO S8JDUIPIO-0D 8y

TTrTrTrIT,

IR PR TR IT TN T T EY Y

Y v

21D DGV 1O S8J0UIPIO-02 8y

prrsrrer e g

TR E RN NN

39BUDYD $8J0UIPI0-0D YDIUM

39BUDYD $81DUIPIO-0D YDIYM

38UIDS By UIDWSI S310UIPIO-0 YDIYM
“SIXO—— Ul JOAO PaJos|al sl DV

£9WIDS By} UIDWISI S8I0UIPIO-0D YDIYM
“SIXO-— 9 JOA0 palosyal sl DgV

alo 0,4,V 10 s81ouIpI0-02 Y|

210 0,4,V JO S8IouIpIo-02 8y

210 D@V JO S8I0UIPI0-0D 8y

4 9

Q)

'sl g 9|buo “
21aUym 9JON

CE U L L Y

Y v

BAAAAA R A Al

L I R

210 DGV JO S8IUIPI0-02 8y

v

(TR TRRE] lirsraren

I S

‘uoloayal Yona aquasaq ‘g

10 AyawiwiAs spiom ayj Buisn j 2quUIsap pup ubisap [DINOSHYDID Y4 §0 4007 °|

30BDWI pajosyel
QU4 sI jupiponb yoiym
u| ‘sIxp-A 8y} Joro
SUOIOBYSI YJIM 8SPD
oY} SADMID S| SIy] ‘
pl————
(€9)
puo (87) :(8:9) 0.8V — »
O $9}PUIPI00D (£:9-) puo
8y Bupow sixp-x 8y} (8:2-) :(8:9-) :eu0 D@V
19A0 PoJOB|al Sl DgY JO $2JDUIPI0-0D 8Y]

*(eBupyo subls
ayy) JebBayul aysoddo Jisy}
0} 9BUDYD s3}PUIPIO-0D X

8y} N SWDS Y} UoWal
$3JDUIPI0-02 A MOY 8JON

*S9JDUIPI0-02 BuIsN |l 8quIsag
gpauaddpy joym D9V V 0 4007

*SUOHDWIOJSUDI}

IAXRIFINT S

»E N )

1

BA LA A L)

3]

(£=17) {(£=8) {(z=S) :NWT V

(£-16-) {(1=¢-) te—e-) (e~t¢~)  IrH
(e'¢) (s'8) :(8'¢) 043V

(7'8-) (y'v-) (8:9-) !(8'8-) :aDav

:BUIMO]|0} Y} JO S3JPUIPIO-0 3y} OId

UoISIADY

2

©
=

)
9
J
(o

2019/06/29 19:09:32

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 24




\Z

2019/06/29 19:09:36

W0Z1 1081 1506 4O U208 UHIM (Z=Z-) 1(6=9-) :(G-z-) :eInBy Buimojjo) sy} o4pj0y

ApAROY

g

£noA djay s|ppIW Sy} Ul dDys Y} PIP MOH 9

's901aA Buipuodsaliod sy} alodwo) 's921aA Buipuodsalod sy} a1odwo)
T2l ,D,4.V JO sa1ouIplo-00 ay) T aIp 0,4,V JO S8IpUIpIo-00 8y]
T aID DY JO $8ipuIpIo-00 8y P T 8ID DGV JO S8IPUIPIO-02 8Yy| D
Ll F
4 = Wy, ane
i o
goibiring /1 t-,,ﬁ—ﬂ TFTET AN
oY ‘
" ‘suoybWIoJsuUDl} 1o _
e AawiwAs Buisn suo Yona aquIsap pub subisap [DINI3YID Buimoj|o) 3y} Jo 3007 ‘|
"
g M
“ g "uIBLIo 8y} $N0qD VY 8|BUDL JO UOLDIOI (0/Z /
,._ ‘ulbLo 8y} 1nogp g 8|BuDL} JO UOIDIOI 08 .'l
“uIBLO 8y} JnOgp D S|BUDL JO UOHDIOI 04 :Q d|BuDu] v
'$901aA Bulpuodsalod ay} a1odwo) 's9oIUaA Buipuodsalod sy} a1odwo) “uIBo 8y} JNogp v/ S|BULLY JO UOHDIOI (08 C a
T aIp ,D.9.V 1O $81buIpIo-02 8y| T aIp 0.4,V 10 S81buIpIo-0 8y| "uIBLIo By} Inogp g 8|BUDLY JO UODIOI 404 1D SIBUBLL -
T 2ID DY JO SaibuIpio-02 8y ‘q T8I0 DGV JO S81bulplo-0d /Y] ‘O “UIBLIO 8y} INOQD ¥ S[BUDLE JO UOIIPIOI 406 g SIBUDUL -
*so|BupL} 8y} JO S21BA Buipuodsauod rarxssaaas tT T TETE N ]
.._- hEiad 10} $OJDUIPIO-02 B} Ul wiaynd ayy ajoN | 9 _ P
" n (98- | lo1=z-) | ez~ a sibuoyy WA 4N
u o (8-19) | (z-o1) (z-2) D 8|fupy]
1 =) 8 (9:8) | (o1:z) (z2) g s|Buoy]
N =
4 _vs”"l EFE LS -.Fv 4 e R LFdE 1.8 __.-. B EE S R > Aw\ﬂlu AN\O_.lv HN~N|V <®_®CO_\_._.
1 t

it L eeemenw

£3IPpPIW 3y} u aionbs

payop b a8y} s1 AYM £3210U NOA Op JPYM S|qD} Y} pub WDIBDIP By} §b 3007

L

v

‘Buimoyjo} ay} agejdwo) ‘g

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 25




“SSUIOWIIUSD Ul ]I 9CLIDSSP PUD UOID[SUDL] UMO INOA MDIQ *Q

pafqo g

*MOJ8Q UOID[SUDI} 8y} 8quasaq ‘O
*aBpwi sy Pa||P S| §03[0 UOYDISUDI} Y} SOYPWBYYOW U *|

A
b4

A

4 1 *Y
A A b

UMOP JNOJ PUD 48] SU4 O} OM}. (7="2-)
UMOP IN0J pup Jybl 8y} o} om} (7-g)
dn Inoy pup o] dU4 O} oM} (7'Z-)

dn Jnoy puo 4ybu 8y} 0f oM; (1Z)
*S9JDUIPI0-0D UBAIB 8y} Buisn

PaAOW SOM WDIBDIP Yona MOy ulp|dx3
(1'8) H(12) :(52) 110 18 v
O $OJPUIPIO-0D MU 8y

3UMOP SHUN ¥ pup
1YBil 8y} O} SHUN § POAOW SEM WIDIBDIP
By} Ji sipd 8§oUIPIo-02 8y} 3ID JOUYM

(50 1(5'9-) 1(6'9-)
21D DGV 9|BuDL} 8y} JO S8IDUIPIO-0D aY|

:z 9|dwpx3

*Jubu sy} o} jun auo puo
UMOP SHUN SUIU PAIDISUDIE SOM 2INBY SIYL

"UOI108 |8l D O UOIIDIOI INOYIIM
POAOW S| }1 § UOHD[SUDI O S| 2INBIY

3UDBW SIY} SOOP JDUM “P3JDIsuDl)
S| A @InBly ‘abpwi-aid ay; SI X 9161y

:1 9)dwpx3

'ssnos|q " pup | 3jdwpxa §o X001
- ..‘.

SUENISISUIS], A 44!

AludN

a
<
N
<
N
—
o
Q
N
o
<)
2
X
)
1=
Q

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 26




AL 91

2019/06/29 19:09:43

s0b0WI 8y} Jo
SOIOUIPI0-02 SU} 810 JOUM “UMOP SHUN € PUD JUBL 3y} O} SHUN / DGV d4pjsupi] "supjd Aub uo Dgy 40ld

ApAROY

‘paLoISUDY ‘pPaoIsuUDly
som WInIBDIP 8y} moy uipjdx3 SOM WDIBOIP BYi MOY UID|dX3
21D D g |V S8ibuIpI-02 ay| ‘ :2ID (D g |V S8IpuUIpI-00 8y] Dt
121D D@V JO SIPUIPIo-00 8yl ‘P 181D D@V JO $8I0UIPI0-0D 8Y] O v
A A
D . po) g
v v - d >
» L 3
| ” N ”
” n Io.-_/M\-.- ?vQOQQQOQQ..
» Y 9 4 » m mig
> > m
' » v M
..IvQQonnQQWlV LN L vvovct~o'.v N
. .
. : HeETTeNU[o)] "
N v . SOM WDIBDIP 8y} MOY UID|dx] . \
' .
N . 1810 D g |V SeIpuIpI-00 8y| .
N N T :2I0 DgV JO $81puUIpIo-02 8y] ‘D «.
" -
v M :Buimoljo} ay} s dwio) ¢
-
s
»
&
>
v
>
»
>
AI.O.-..-..- YOVQQQOOQQ..IV
‘PaIpISUD.Y o) . 8
SOM WDIBPIP 8y} Moy uio|dx3 X 3
810 D gV SelouIpI-00 8y . suoplLLIofs DY mpc
T :2Ib D@V Jo s81puIpIo-02 8y ‘g v I 10 AlpawiwAs spiom ayj Buisn i 9qUISaP pupb UBISAP [PINIO3HYDID SIY} JO 4007 °Z %
.
s =
1<)
2
<
s




- 89l
. & PINuUnuod

‘() 10400} 3IDIS Y}IM JuswBBIDIUS UD S| UOIDULIOSUDIL SYJ 0L ADS om 810jaIay]

= oV x (¥) =0V

= 29 x(r) =04

= av x (v) =9V

o 8l |o 8

‘() 10}00§ 3IDIS Y}IM JuswdBIDIUS UD S| UOIDUWLIOSUDIL Y} DY) ADS om 810jaIay]

= av x (¢) =.av
T =7 aoxl(¢e)=ad
T =7 08x(e)=.04
T =T gvxl(el=4v

a o

(A% :
x_ PPy

IO O O Oy~
( Nt N Y e e

T . L L 3

¥ B ¥ [

2019/06/29 19:09:46

‘() 10400} 3|DS Yiim juswaBiIp|ua UD S| UOLDULIOISUDIL 8yl 10yl ADS em aliojaiay]

o} a

o}

= av x (¢) =.av

= aox(z)=.ao

= 29 x (z) =04

9=¢x7 gvx(g)=4V

go)
¢pabipjua ainbBy ayj 1 10}oD} |DIS JPYM Ag °|

"7 10JOD} 8]0DS UJIM JUsWSBIn|US UD S| UOIDWIOISUDIL Y} IOl ADS M ‘lojeiay]

JVXC=20V
28X¢=.0 4
vy Xc=49V

[uswisBio(us Jo aluaD

\ \

O 8]0 ]

‘D ¢ uousanb ui so Sy}
|| JUBWSBID|US UD MDIP OS|ID UDD DM

9=VvV.D 9=04 9=49V 24V
€=VD =04 €=av o8V

*BUIMOJ|O) Y} SSNDSIC

‘JuswabIp|ud JO BINSDAW 3Y} JNO HIOM O} juswabipjus
JO 31Jud2 pPuUD I0}OD} B|PIS SY} SN O} MOY ISPISUOI [[IM NOA ‘AHAIOD SIY} u|

ATHS Gr7 Bl Theme 4 2pgsonlpg.indd 28

%

.



AL 9

2019/06/29 19:09:49

580 sopIs
8y} JO SYiBUS| BY} [IIM 1OUM ‘i 10400} 8]00S AQ YOS SHUN S8IY4 [0S Joy} SSPIS Yiim sjBuDL} D 8BI0jUS | J|

BujAjos Wa|qoid

(D8 pup gV
2INSDBW PUD $8I0NDS IN0J JND UDD NOA JO “10JonIj0Id D 85N UDD NOA) s4ojni O Buisn
INOYIIM Sy} 8INSOBW | PINOM MOH *, D,V SO YiBua| 8wos 8y} 89 PiNoys ,O,g Pup g,v

(2 Z 10}9D} 3|0 2s YlIm juswabipjua uy ‘q

o o) l

a

o) o) 2
_m m _m m H

:z dojs 1] dayg

g ‘G 10§00} B[DIS YIIM juswabibjua uy ‘o

v ‘sjuswiabipjus sy} Mpiq ‘¢

*(z 100D} 8PS YHMm Juswiabipius uy)

*Z 10}oD} 3DIS YIM juswabipjua uy 'p

¢pabipjus ainby ayj sI 10}oD} B|DIS JPYM Ag ‘g

SIY} || EmEm@;C_Cm U MDIP OS|0 ULD M O
bd b4 ki e 7

% S ¥, FA oS Y

Ad b4 b4 b4 A I3

]

o
a
]
B
k|
e
&l
=
2
g
2
%
o
™
«
o
g
g
2
=
=
=
©~
>
&)
o
jast
5]
<
=

N

, < ’ e - ' -



AL 8B ¢

2019/06/29 19:09:53

2921j0U NOA Op JOYM
*Z 40 10}0D} B3[PS D AQ Z UOHSSND O} JomsUD INOA Ul 21nBy 8yj 8onpay
‘€ JO JOJOD} 8|PIS D AQ | UOISaNY O} Jomsup INOA ul 81nBl sy} abiojug

Bujajos wia|qoid

slusWaBID|US By} IBYD DBID PUD Jatawuad ayi S IDYM ‘I

385N0Y PUOD3S 8y} |0 DAID 8yl PUD Jatawiad syl sl IOYM *1 °Q

sJUBWaBID|US By} Jay0 DBID PUD Jadwad 8y} Sl {PYM Il
*Z 10 10}0D} 3|Ps b Aq asnoy ay; abipjud ‘siy} Buimpip JISyY
‘W 9 X W 9 9q jsnw upjd Jooy 3y] ‘asnoy [[pws D jo 19jawnsd apisino sy} mpig ‘|

39SN0Y sl @Y} JO DAID PUD Jajawad 8y Sl IDYM I ‘D 35 " a

- 1 wog 3 - wog

q i \
wo ¢

g f Y
wo gl

spabliojus aInBi Yo0a | 10100] 8|S IDYM Ag

D wo9 4

o) wo ¢ g

wo 9 wo 9 wo ¢ wo ¢

v

¢Aq pabipjua s a1nBy YoDS S| 10}OD) 3PS JPYM Ag

; °¢ JO 10}oD} 3OS B
DAg3 snoy ay} abIpjua ‘siy} Buimpip 1ayy ‘(W g x w 9) asnoy Iojnbupydal b MDIQ ‘T
SWReIeAe] WD) U AR S IofU|

=3
@
o
bl
g
oo
o
=
=
=
2
=)
o
™
<
Y
g
o)
=
=
L —
m
o~
o
&)
w
T
5]
<
=

A kA

T T
I T T T




. &b 8B

'SOODJ 9| UDYY SI0W YiM PII0S DUIBLI0sB D aXDW

ApAyOY

*J1oplo 0216
D Ul UMOP I S1UM 0} Al] “SPIj0S Dluo}nld JNOgn MOUY NOA BUIYIAIBAS UMOP 1M O

so|nBau
10 IpjnBai Asy} 81y 39ADY I SOOP $82D} AUDW MOH "UOIPaYDISPOP ayi Ajtusp| P

slo|nBau 1o IojnbBal i S| zwisud v 259004 07 YlIM
pIWDIAD D 186 NOA UDD) 59ADY {I SOOP $82D} AUDU MOH "UOIP8aYDSODI 8y} Ajilusap| 0

351 SIy} uoipayAjod
1O PUP 1DYM SBQUDSBP PIOM YDIYM UOIPBYDISPOP SU} JO 82D} 8y} 1D 4007 g

" $920} JYBIS Yiim SPIIOs BY} (|0 Aliusp] "D

nAV @6

‘suoysanb ayy 19MsUD pup SpIjOS JUjaWOaB asayy 4o 4007

w

¢iojnbai
p1jos 3y} s| (436 noA op pijos jpym ‘Buiyono} aIp saspq Jisy; joyj os Jayaboy
way} jnd ‘piwpniAd aipnbs puosas b aAby noA suibow) ‘piwpiAd aipnbs b 9] “p

SoN

*SPIOS 19Y40 Sy} YIM aqnd ayy aindwio) ‘agnd ay} Ajyuap| ‘¢

b k4
¥4 ¥1 ¥1 A1

b4 b4 kA B

‘splwpJAd 13yjo ay} yjim uoipaypls} sy} aindwo) ‘uoipaypiyd} sy Apjusp] ‘g

:BuUIMOJ|0} Y} JO YdD3 8quIsaq ‘|

9N

N

-

PIIOS DUIBI0SD)

PIIOS DUIBUWIOSD)

-

PIOS DLIBUIOSD

*
&

PIOS DUIBLIOSSD)

PIIOS DU}BW08D)

"SPI|OS DJUOID|d SY4 W Of € PUD Z §10-jnD Y} 35N

2019/06/29 19:09:57

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 31




(
X
(.

2019/06/29 19:10:01

sodpys ay} dn Buppw suobojuad ou aIp aiay} i PIWBIACIP [pucBoUSd D §i [IPD OM Uyt NOA OP AUM

“}1 Buipjing 810489
Jou 8y} Jo Bumpip 0 SXPW “plwnIAdIP [ouoBojuad D Sy} |00 9M “PIIOS D PlING PUD SajBUBLY Q| 830

ApAyOY

“SNUIA P[0 UOWIWOD D °q
2IN}D310 P8s 21IAODSOIDIW D ‘UDLDIOIPDI BYL ‘D
uj 39S NOA pIjOS JIUO}D|d Y} dSWDU pup Ajyuap| ‘¢

‘2 ‘92p} ‘sainby oW oab ‘pijos oujswoab
:SD YONS SPIOM JO asn P "spljos dluoyp|d 3y} jnodp |9} NOA Ubd Jpym £

‘seBupL [oI1P)INDS (g 10 SPPW SI PIOS SIY] S

*seI0NbS XIS JO SPOW S| PIOS SIYL ‘P

"suoBojuad z| Jo spowW Si PIos SIy] O
"sg|BupLly [0I8L0[INDS INOJ JO 8PPW S| PIIOS SIYL *q *s|DJsAID 353U} d)I| SHOO]| §PY} PIOS JIUOID|d SY} SWDN °Z

‘so|Bupbll [osalp)INbS [YBIS JO SpoW S PIIOS SIYL ‘D - . ‘
"JUSWISIDIS S} O} JOMSUD UD SAIS *9

“WLIOJ 31| SY} YHIM PIIOS IUOID]d SY YD4OW |

N#OO_QO pPljOos pup mh:mc OEwEOOO D U93amjaq adualayjip ayj st IPYm s ,
“9SI9AIUN *8519AIUN [DIISAYd By JO sjusuodwod
2y sjuasaidal |ojuswopUN} 8y} JO sadoys alom
uoipaypd9pog SPIIOS Sl 858U} JPY} PaIOINDSdS
ayL ‘snjajepaY| JO YIom By} pajoadsal
Ajpaib oym ‘oyp|d o4pold Jeydosojyd
39819 JUBIOUD 8y} JaYD ‘SPIIOS DIUO)DId
8y} pa|Ip2 os|o 2o sadpys sy |
'SUOIPAYDSOD! B} PUD SUCIPSYDIO0
S} PAPPD SNJS}ER8Y | UDIDYDWSYOW
Sy} {UCIPBYDSPOP S} PUD ‘SgND Sy}
‘UOIPBYDIS} SU} JO MUY SUDBIOBDYIAY
o sjussaidal S| '$49919) JUSIOUD BU) AQ PRISACDSID
Uoipsypioo =yl a1om pIPaYAlod IojnBal oAy ay)

ainby - ainby - aInby
olPWOod pios BINETITLLEYS) BINETITLETS)

vy
b4 k4 &
¥ ¥4 ¥
T T L
‘¢4 ¥4 F¥T ¥4 v94 ¥1 ¥A
bd b4 kA kA bd kA

A

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 32




‘Bl jXau uoljpjuasald INOA aA0IdWl [IM NOA MOY UO S8}0U SXPW

suoypjuasald

'SSDJD Y Ul YIOM INOA [USSald
€ Jnd

"I 300] [IIm Bulpjing ayj yulyy AUm ¢asn
noA joym jo Buimnip ybnol b axpw 0} 6ujo6 noA aIp sponpoid ajspm Jpym

*SBUIP(ING UIDWSD 10} SPIOS UIDLISD Pasn SADY NOA Aym
SUOSDAI BAID) *,,2ININJ BYL JO SBUIPIING,, BY} HING NOA MOY JO UOdLDSOP D S}lIM MON

SBUIMDIP BpN|oUl ADW NOA “I18y1abo} sy} paulol 8ADY NOA Moy
pUD $920J JO sedpys a8y} U BUISND0} ‘PIJOS JIUOIP|d YD PaLnaId NOA MOY SIUM
T Hnd

7\ —

*SPI|OS J1uo}p|d uo uoypjuasaid p 10j up|d o} Buioh 31D NOA AHAIID Sy} u|

92UBIPND B} JO [9A8)] }S8I84Ul BY} UIDIUIDW PUD [|9M UOolD}USsaId INOA SSIUDBIO e
AlyBnolioy; siuiod |Io updxS e

uolpjussald 8y} 92UDYUS O} SPID [PNSIA 8SN e

SUWDJ) Wiy palinbal sy} UM ADYS e

uolpiuasald aiyus sy} Buunp o1do} sy} nogp Bulea) aAIISOd ‘BUOILS D S1DISUOWSP
PUNOIB BY} UO Ajwlly 188} Y1og Yhm 1yBInlis dn pupys

9}DIJSUOWSP O} $8INJS8B pUDY [0INIDU BSN e

1NOQD S| UoPIUSsaId Sy} JO JUSIUOD Sy} Joym Buluio|dxe AQ HDIS e
uolpjuasald sy} 1noybnoiy} o) Bulussaid a1o NoA sjdoad sy} 40 300| e
:pINoys NoA Bulussaid usym

*sdi} uolpiuasaid asay} ybnoiy} 09

sdyj uoypjuasaid

SjeS N (VSIS

2019/06/29 19:10:04

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 33



b
¥

2019/06/29 19:10:08

“SOljoWaYIoW uolpayoya} uoJpayn}o0 uoIpaynI3pop uoIpPaYPSOI| aqno
U] SUOJa[MS ~
858y} 00 M
£UOWIWOd Ul 3ADY s}23[qo asayy b Op JPYM ‘T

*ODS 10} SPOBU 8Y 90D} DLISWOSB AUDW MOY JNO JIOM Jsily O} Wiy d|SH *saInNjoNus

(e00WNs) [18Ys O} Way} 8BUDYD O} SPSaU 8H SaINJONS (UOK[YS) SWDL 9S8y} 9pOW SOY PUSL) Y UGIPSYDIUOIOXSY UoIPBYOYISP wshd pouoboxey

jouobpuad joucbpuad pajuawbno
/‘\ Y ‘ b

—

Ajaoy

pjodno JpjnBuoLy uoJpayosool uoJpayonospop

| .o 0
uoJpayo1o0 uolpayoulal agno

*S9DIHISA N3y}

JO swia} Ul wayj 310dwod pup spI|os duop|d Bulmol|0) Sy} Jo S3IIHBA ay} AJjusp| "XaJ19A pup abpa ‘92D :spiom asayy Buisn spo3[qo Buisn Buimol|o) ayy [2GpT °|

SO0D) T e 3Tolo) IR SO0D) T e Tolo) RN
SOOIIBA — e SOOIOA T~ e SOOIOA — e SOOIOA T e
sobpa . sobps . sobpa . sobps .

A
(A
/& SODIUBA SH

~ Io 4o Buesw seopy
3 JO JoquINuU SWDS 8y}
o yim pup ‘uobAjod
E Ipojnba1 swps ayj [|o
=~ aIpjpyj sadpjjo dn
~‘ apbw uoipayAjod
’ ID|nB3I X8AUOD D

4 S| PIIOS DJUOIDId VY

q ,._o
‘SDY 41 S92D) pup

S9OI|ISA ‘s9Bpa AUDW MOY PUD WLIOJ [[IM SUO YD3 }23[0 dupawoab Yyoiym umop
SJLIM 0S|y "XSHBA pup aBpa ‘@oDj :spiom asayy Buisn spoafgqo Buimolo) sy [2qp7 ¢

:SSIADY

(
X
( X i 54 +4 b4 b B

ATHS Gr7 Bl Theme 4 2pgsonlpg.indd 34

‘o oA FS A rod Y ¥
b4 k4 kA kA BA B *

D



3U0JPBYD}O0 UD O} }I 8BUDYD 0} PILIAD 810NbS 8y} O} 0P NOA PINOYS LOUM

- En -y
Qegu

(@]

*SpI|os Jo|nBaI 810U 98yl SWDN °
“SPI|OS DIUOID|d JojnBal 8yl 801D

e

‘sojdwioxe
SN 5SWSHA PUD SPILIDIAC BY} WO fUBIBHIP SPIIOS DIUOID|d BI0 MOY/AUM “©

310Nbd Jou 81D 8INBY DUEBWO8B D JO SBPIS BY! |0 UBym ADS om Op IDYM ‘P

3UDBW SIY} SOOP 1OYM ‘[PNbe 10 adoys Yyone Ul se|Bub sy} Iy 'O

uobpio0

uoBoxaH

uobbjuad

aipnbg

o|Bbuou]

*odpys yona Jo soibup sy} ainsoaw
0} Jojonujoid 0 asn (‘|PNba 1o adoys Yons JO SaPIS SU} || oY} 8INS SOW)
"9|g0} O Ul UMOP WIBY} aiiM pup adoys Yyona JO SapIs 8y} [0 8INSPaW g

‘wayy} [9gn1 ‘uobojuad pup
aionbs ‘uobpyoo ‘uoboxay ‘o|bupyy :saInbBlY dLEWOSH ID|NB3I BuiMo||0) By} MDIQ ‘D

‘|onba aip

. . $90D) 9y} i vjnbH3)

A 51 pIj0S JjaWoab v

25900} §,P110S :

JIUOJDI4 B 40 300] NOA
§1 810U NOA OP OUM

‘|Ionba aIp

sopIs 3y} Ji Iojnbai si
ainby ouppwoab vy

Ipjnb3al1 810 Ay} SUDBW SIy|
‘lonba aip (saunbly duewosb)
$92D) 8y} Jo sopIs Sy

‘oWwos a8yl
S| pllos JlUo}old b Jo
$92D} 9yl JO Yon3

uoIpaYDSOI| uoIpaypI3pop uoIpaYD}O0 agnd uoIpaypYd}

‘'sabpa jo
laquinu jusiayip
D 8ADY |0 ABY]

's99D} JO
laquinu Jusiaip
D 9ADY |0 ABY]

*'S9OIJIA JO
laquinu Jusiaip
0 9ADY |0 ABY]

*SPI|OS DIUOJD| BY} UO SDINDD} JUSIDHIP BY} MOYS 'SPI[OS DIUO}D|d 3y} a1pdwo)

ad_

2019/06/29 19:10:11

A

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 35



‘PILIDIAC 2I0NDS By} 93PW PUD INO §I IND ‘PIDOCPIND UO UOIDNIISUOD 8yl 0p MON (I
50UIIL IXaU AllUSISID OP NOA PINOM [DUM e
£9ADY NOA PIP SOLHNDUJID IDYM o

BuIMO||0} By} Jomsup ‘pPIlpIAd paspg-aIonbs 8yl PatoNIsUOD 8ADY NOA 1LY (I

*as0q D SO QY BuIsn 8|BUDL} JBYOUD JONISUOD
iy days

2500 O SO Qg BuIsN 8|BUDL} JOYIOUD JONISU0D
:¢ days

:suousanb

*a|buo}
0 JONIISUOD ‘aspq b SO Dg Buisn
“a|BuoL}
D JONJISUOD ‘aspg b SO Y Buisn e
:¢ dayg

“o|BupLy
D JONISUOD ‘aspg o SO DA BuIsn «
*a|Bupy
D JONJSUOD ‘aspq b SO gy Buisn e
1z dayg

*9|BupL} JsIy By} JO gy 8spg 0} paulof
95D BUO Y}im 9jBuUDL [01810[INb3 JaYoUD JoNISU0D
g dayg

"0gv #2907 "8|Buply} (D80S UD JoNISUOD
;| dagg

W ol

‘g0gV 9|Bupoal §ONISUOD ‘BI8Y}
WoJ4 "Way} aInspaul 0} sassodwiod
O JIpd INOA 85 "oWDS 8y} 8q
pinoys gy pup gy Jo syibus) syl
*saul| Iojndlpuadiad om} JonisuoD
;| dajs

va

kA

A
¥ v

4 k4

‘}jdu piwpiAd aipnbs b jonysuo) ‘g

§3U UOIPAYDIS} D §ONISU0D °|

a-€ ‘a-z “ojnbBau JojnBay (SIS A (SebpT (S804 :opINB Of SPIOM

uoipaynya]
“UMOP
SPIIOS DUIBWOoaB 958yl Uo Jaquuswial NoA BUIYIAISAS M BuimMOj|ol 8yl asiAsy

wsud iojnbupyoay wisud JojnBupuy piwpiAd Ipjnbupu)

WSMARRNEUR D e A
pUPKRINOURIKIEPILYRIACRD|NHURILISS-ez e
URJORVDARN, IS (9 (NSNS

AludN

5]
=
S
hre]
X
—
o
I
=
©
<3
=
x
—
1S3
Q

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 36




2019/06/29 19:10:18

'SPIJOS DLIBUIODB 8Y} 93OW O} S}ou 8} 85

‘wisd JojnBuDL BY4 SPW PUD (N0 JI IND ‘PIDOGRIND UO UOIDNISUOD 8yl Op MON (Il
30WI} XU AjJUBIBHIP OP NOA PINOM JOUM o
£9ADY NOA PIP SAIINDYIP Joym o

:suolsanb Buimolo) 8y} Jemsup ‘wsid I0jnBUDL} Sy} PBIONIISUOD SADY NOA JayY (I

@04y 9|BuUp§O8I §ONISUOD ‘BIay}
wold *(wey} ainspaw o} sasspdwod
10 JInd INOA a3 *8|Bup}dOal D WIOY

*a|Bupny *(8)Bupyo8l I0) 810NbS

‘aipnbs
D JONJSUOD O} 8SDQ SO gD 85N o
‘aipnbs
D JONJISUOD O} 8SPQ SO YJ BSN o
¢ dayg

[ —— )

*9|Bup}o81 JayjouD
JONISUOD O} 8SPQ SD HO 85N
H pup 9 sjuiod mau sy}
[9gP7 *Mojaq 8|BuD}D8 JIoYjouD
JONISUOD O} 9SPQ SO gV s
*9A0QD 8|BUDO8l JBYoUD
JON1SUOD 0} 8sPQ SP DJ 9N

1z dayg

‘@ogy a|bupioal

JONISUOD ‘Bl1ay} WOI "Way}
2INSPBW O} $SPAWO0D INOA a5 Y
pup g UsaM}a] JPY} UDY} JoBUOo| 8q
pINOYs g pup ¥ usamiaq yjbus| syl
*saul| Iojndlpuadiad om} JonisuoD
D

D JONJISUOD “8spq D SO Dg Buisn o
"a|BupLy

D {ONJ4SUOD ‘8sDq b SO Y BuIsn e

:¢ days

D §ONJISUOD ‘Bspg b SO D Bulsn

*( 9iBup}o81 J0) 2ipNbs Jayjoun
JONISUOD ‘asDg D SO gy Buis
iz dags

0} JoBUO| BUO IO BWDS Y} 8]
PIN0D g PUP QY 4O sujbus] ayL
*saul| Jojnolpuadiad om} JonisuoD
1| days

&

‘J9U uoyINIsUOd wisud IDINBUD}OBI D JONISUCD ‘P

A kA

¥ 7 w1 ¥v
b4

“J9U uoydINsuod wsud IpjnBuDLY D JONIYSUCD °E

pRAyeD WSS JeAEIDR - ;O

OV (NI, (OiA/e] SIS SO o 11
LU pRYRIIRIFRURRIDUIDnIlISUes)

r

g
9

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 37




€8l

“UMOP WIBY! S1LM £SPIJOS DIUOID|d DY} JO SDWDU Sy} ISQUIBWSI [[I§S NOA UDD °E

)
w2eq
b5

‘pPIWDJIAC [oUOBOX8Y SYI S¥OW PUD INO II IND ‘PIOOGPIOD UO UOIDNIISUOD 8Yl 0P MON

>

*3|BUDL} D JONIISUOD O} &SP D SO V4 85N
*9|BUDL} D {ONIISUOD O} 8SDC D SO 43 9 »
*9|BUDL} D §ONISUOD O} BSDY O SO I 3N »

*9|BUDL} D {ONISUOD O} 8SPG P SO D 8]«
*9|BUDL} D JONISUOD O} 8SDQ D SO DF 85N o

*9|BUDL} D JONISUOD 0} 850G D SO gy 95 o
;g dags

'43QDgV uoboxay Jonisuod

2019/06/29 19:10:22

‘wisud jouoBoxay 8yl 830w PUD N0 11 IND ‘PIOOCPIOD UO UOIDINIISUOD Yl OP MON

‘so10Nbs 8 0s|D UDD $3|BUD{O3I Y] :D}ON
*8|BUDIOBI D JONISUOD O} 85D D SO V4 85(] o
*9|BUD}OBI D JONIISUOD Of 8SDQ P SO 43 85N

‘Ir@3 1119907
"8/BUD}OBI D JONISUOD O} BSPJ D SO 3 8
*9|BUD}OB1 D JONISUOD Of 8SDQ D SO @D 95N

‘uoBpxay Jayjoun *9|BUD}O8I D JONISUOD O} BSDG D SO DF a5 »
JONISUOD 0} 8SDG D SO [[8SN « | "B|BUD}OBI D JONISUOD O} 8SDQ D SO gV SN » | '43aDgV UOBDXaY JONISU0D
:¢ days ;g days | days

1| daygs

A kA

4 vy wv
A B4 kA

‘plwpliAd [puobpXdY D JONIYSUOD T

‘wisud [puobpxay b Jonysuo)d ‘|

a-€ ‘a-z JojnBal IojnbBay (SOOIBA (S9BPT (S9004NS :2pING Of SPIOM

uoIpaynd0 piwpiAd [puobpxaH wisud [puobpxay
‘UMOpP
SPIOS DLEeWOoaD 8sayl Uo Jaquiawal NOA BulylAlons alup  Buimolio) ayy asianay

YeJORMIEE (SN [ion o
WiSE) [PURFRsRY] SIS © (UL SUes) .AumﬂmAV

&S

|
<

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 38

r




2019/06/29 19:10:25

= om
- a o=

o
‘Jou -

oy} a381dwod NOA [yun sajBuply BudNISUOD UO ALDD *a5pq D SO Qg Buisn 8|BuUDL} JBYLOUD JONIISU0D )
p doys :¢ doys

‘alonbs Jayjoun
JONJSUOD O} 8SDQ SO HO 85N«

‘H puo 9 sjujod *@Dgy 21onbs Jonisuo ‘aley}

[

alonbs
D JONJISUOD O} 8P SO gD 85N
a1onbs
0 {ONJYSUOD O} 9SDQ SO YA 85N »
¢ dogs

MaU By} [ogpT "a1onbs Jsyjoun
JONISUOD O} BSDQ SO gy 95N o
-aIonbs Jayjoun
JONIISUOD O} BSDQ SO DA BSN
iz daygs

WOl “Way} 8INspaw o} sSodwod
JINOA 950 "y PUD SO BWDS dY} 89
pINOYs g puo ¥ usamiaq uibus] auyL
*saul| Jojnolpuadiad om} JonisuoD
1| days

‘9qNnd D JO jBU D JONIsU0) °y
“alBupuy JS1y 8y} JO gy 950q 0} paulof

as0Q BUO YHm a1BuDLy [DIB}DIINDS JBYIoUD JoNISUCD D4V H [2gp7 "e|bupyy [pIsipINDS UD JONISU0D
iz days 1| dajs

PRIV U0 JORNIONSDe (OWIo)/Ne] (oIl
WiSHIE [PUEFEsR] IS © (USNSUCH): Wt

‘UOIP3YDI0 UD JONISUOD) ‘G

A b4 A ._ 4
Y4 ¥4 ¥4 ¥q ¥q ¥o »

bd b4 A b4 b4 B4 B , »

@

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 39

Al




"$Y00] J8U §,UOIPBYDILE} D MOY SGUISSP
O} UOIIDWIOJSUDIL 93N [[IM NOA “ALALOD SIUL U] "UOIPBYDILS) U} O JoU 8y} 10 J0OT

AjAYOD YDIND '8

PlOS B SHOW O} PIO) o

1NO {1 JND PUD PIOOGPIOD UO 4l 800U o

}OU By} 1ONIISUOD PUD UBISOP o

JPINOYS NOA "JONIISUOD 0} ASDS AISA 10 J|NDLJIP OO0} 810 JDY) SPIJOS 8S00YD Of Jou oq “JI
10} }8U D UBISSP PUD PIjOS DSOS UMO INOA 8S00YD O} BUIOB 81D NOA ‘ALIAILOD SIU}
U] "days-Ag—da}s suoloNISUOD YBNOoIYL HIOM O} salunoddo sSNOLDA POy SADY NOA

joafoid L

A
¥ v

A B4 kA

¥ ATH
n... ...nj..fﬂs..-_.....
A

.Y,
="

‘uobpjuad xau ay}
BuloNISUOD I0J ‘BJ2UID JxaU BY4 JO S|PPIW BY} 8] H 47 ‘uoBpjuad o JonisU0D
HALI 1| dayg

*sds OM} Y} SI0 SI9H "UOIPBYDISPOP D JO JoU 8y} }ONLSU0D

BujAj0s Wa|qo.d

e e

‘so|Bupl} 810U BuloNISUOD
UO ALDD SN[ NOA "UOIPBYDLIO0 YL YIIM SO UOIPBYDSOD] 8} JO) SWDS 8y} 0Q

“J9U UOIPSYD}I0 UD JONLSUOD) 9

PEAYYED UeJoRMNRe (S WN/E) o A
- WSE PV FOsE SIS ) (SIS IVNSYCR): i
1

AludN

2019/06/29 19:10:29

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 40




‘|aU P810aId INOA JO S9DILBA 8y 8quasaq ‘o

“SPIOM UMO INOA UJ $900} 8} 8qLI0$9(Q

'SSOIISA 8Y} 8qlOsa( *PIjos dUleuosh PIIOS UOSULOT D 4O JoU SIU} 4D 5007 :AAIID 2IND "D

D WO} O] PAPIO} SI 1au 8yl usym sajBun ayl yiim suaddoy [0ym 00T :AJARID XIIND

‘J8U INOA JO SBUIMDIP SWOS Ylm ADS NOA Joym Loddng “1au s, uoipaypilel
By} paquOsap NOA Abm SWINS By} Ul § UOISSND Ul 9pPW NOA Jau ayy 8quaseq ‘g

‘aA0qp o|ldwnxe

..-. S0 ADM SLIDS SUJ Ui 8 UOSSND U jou InoA dn eypw oy} sedous ey} aqudseq “p RRANINCR) r_,@\_,_ONLU‘F\UO *U.-EU\;Q Ur_.U 'y
- Wis)e] [[PueoosR] IR [© (USSR

A kA

T T
I T T T

N
@
S
=
N
-
N
Q
=
)
S
=
=N
—
1)
Q

1
A
=
=
E
oo
O
=
o
=}
2
oo
o
™
-+
o
g
g
=
B
L —
m
o~
>
&)
v
T
I3
<
=




AL 91

2019/06/29 19:10:36

'SPII0S DUFBWO0SH By} SPW Of S{auU 8y} 85

ApAYOY

‘Bumolp sy} Ul |9|pipd

uIpwal joalgo [puoisuawip
-9y} |08l 8y} Ul [3]pIRd 810
1Py} saull 8y} Joy} lsquusiay

&SIU4 S BUIPING BU} JO MBIA JOUM "
'S$§00Iq JO N0 SppPW

S| 11 41 SO JOU puD ‘BuUIp|iNg D 83l 10W SYOO0| 4l DY} 0S SaUl| 8} JO SUIOS SA0WSY ‘q
“SBUIMDIP INOA 10} J0}onIp0Id D 8sn pjNoys iNg “Jedod duBwos

Buisn jou 810 NOA oy} 810N ‘Buip|ing 8y} Jo Buimpbip anblgo up sXPW D

XOHBA JybBlU woloq
'2gNd Yy Jo Jsal 8y} mpIg S} Wol} 8Ul| 08 P MPIJ “ai0nbs D MpIQ

L days zdajs 1 days

‘noA apInb |Im mojaq sdajs ay] ‘Buimpip anbjqo ,0¢ b Buisn aqnd b Mbiq ‘DI

_D “SMBIA 108[00 0-§ BUIMDIP JO SADM JUBISHIP INOQD US| SN 187

Jodpd
10 9091d 8jp1adas b asn O} JUDM ADW NOA) Bulpling Sy} 91P310 pup $3QND OF MIP] ‘T

M3IA 9PIS MSIA BPIS MBIA 3004 MSIA JUOI
3,08 UDY} I8||oWs 810 so|Bup 8y} Jl usddpy |IIm DY O “9%1| 300] [IIM SMBIA SPIS PUD ¥000 “JUOI} U} MOY §I SIUL
‘Buimpblp oy ul [a|plod apis oy
upwWal }08[qo [puoIsUBWIP b * *
—98ly} [DaJ 8y} Ul [9pInd 810 L ;

10U} Ul 8U} DU Jaquisway

. SIUY
X 300] i 4| “sodod
dupBWOs| Uo Bulpling
. 8U} MDIP UDD O

. '$agNd |7 Woly appw Bupjing 3y} jo 5007

XOHBA 1yBU woloq
"2gnd 8y} JO Jsal 8y} mpig SU} Wol) 8Ul| G P MDIJ "aI0nbs b MpIg

1 days zdajs L dajs

‘Buimolp anbiqo .G Buisn 8gnd O mpIg g

By
AT 7

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 42

b A
- e




2019/06/29 19:10:38

£ U0 pUD| M 11 Jou} AlIGogoid u) SII0UM ‘€ ‘€ ‘2 °Z 'L “| PRISGUINU S| SS90} XIS UM SIP 0 J]

"UOI}O01) UOWWOD D SO JI 9JUM U001} UOWWOD O SO JI SJUM
] 29 U0 pun| o} Alligngoid 8y} S| JOUMm &/ U0 pup| o} Alligngoid 8y} S| IoUMm

1
ol . 9
9 S €
14 8 S
Ll A
6
L 14
e S L
Jeu uoipaypospoq ‘p Jou uoIpaypnion o
'SOWOJNO 3|qissod XIS UDY} IOW SADY |[IM JDY} 1P UMO INOA DWW '€
"UOI}O01) UOWWOD D SO JI SJUM *UOI}O01) UOWWOD O SO I SJUM
£9 UO pup| o} Aigogoid 8y s JOUm £€ UO pup| o} Aigogoid ayj s JOUMm
9
"9 UO pUuD] ea\w Apigpgoid syl p "G U0 puD| O} m\__ Amigpgoud syl 2 ¢ 4
€ T ¥ L
_ z
0z 'SL‘0L‘S ‘q 9L¥LZL'OL89 Y TP g
Buagn)d 'q J8U uoIpayple] o

¢BuImoj|o} 3y} a1p sawod}no 3|qissod INOA ji SADY 3IIp INOA ||IM S82D) Aubw MOH °Z
*92Ip D )PW 0} }dU 3y} 9sn NOA Ji Yo
JOo awo2}no d|qissod ay} suiwIe}aq ‘spIos dluoyp|d sy} Joj sjBuU By} [|b 3D s3Y] ‘|

0c 61
gl /L
91 SlL
4 M_w_ﬁﬂn w_ﬁ_n_h ‘9 PUD G ¥ ‘€8I0
ZL 1L ‘ St 910 1pUMm $OUWO024N0 8|qIssod ay|
ol ¢
8 /
9 G *3Ip sy} 1o} sawod}no 3|qissod sy} 1o joym
v e :UOISIADY
¢ 1

w..-
L _lv. ; “UOI}ODI} UOWILIOD D SO 41 SIUAM
* 39 UO pup| 0} Aligogold ayi St IDYMm }8U UoIpPaYPSO| '
¥

. J“i |
* / AJ
KRR NTHTN LN

A
SW0DINO wﬁmwoaﬁmm_

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 43




B8 ¥ & B (¥ 0B AL Ob S0 @6 &1 EBE GE

2019/06/29 19:10:39

*SIOQUINU [OUOIDI PUD SPIOM Uj SIOMSUD INOA
SJLIM "S2OMS JUBISHIP G| JO BJ D WOl 8210UD INOA JO sjoams 8a1uj BUIMDIP JO AHIGOG0Id B4 S| JOUM

Ajnoy

'67'010 %57 '+ 69 ' pup
0 Usamiaq [owioap 10 aBpjuadIad ‘UoIODI D SO Passaldxa SADMID SI AHIqogold 8y} {py} JaquIsway

"Blp POpIS-Z| © Uo g uo Bulpub| Jo Aljigogold ay] ‘o
10 POPIS-CL 8 IpURl O AHIIgPg yl %40 PUD %001 ‘%4ST ‘%4SL ‘405
7 ; :auy| Ajjigpgoid ayj uo 9o0|d Jo91109 3y} Ul sIdqWINU 3S3Y} Ind ‘T

'SIOOMS 7| JO 1800nd D Wol) sieams oml Buimoip Jo Alligogoid syl p

'SUOI}O8S [PNba Al Ylim Jeuuids b uo g Buiuuids jo Aljgogold ayl o

7 ; ‘92UDYD UBAD ‘Aj@)Iun ‘Aj@yI| ‘9|qissodw ‘UIDPSD
:aul| Apigpgoud ayy jo doy uo aopid 108110 By} Ul SPIOM 3sdY} Jnd °|

“$§00|q U8} Jo B B WoJ) 320|g 8Uo BumbIp Jo Alligogold ay] ‘g

— o<

L4
!
|

"aIp O UO G Uo Buipupj Jo Aligpgold ay] o |

|
I
| | | ¢

‘sabpjuadiad pubp sjpwid3ap
‘SUOIIODI} Ul SISMSUD INOA 3AIS) "3|p2s Apjigpgoid ayj uo Buimojjo} ays Moys °§ ‘Buiueddoy
¢l 71 Bulyiewios Jo Aligogold syl MOYs O} SIPWIDSP JO/PUD SUOIODI) ‘SPIOM 85N UDD DM

=9 =1 3UDBW SIy} Se0p
JOUM "S|I4 10 SPDRY UO PUD] 0} %05 10 60 ‘< st Aigpaold a4 Uiod b diy | usym

"SI} O3] UMOUS 51 Ul AigngoId UoloDI v

392Ip 10 Jiod D UO BUIMOJ|0} 8y BULIODS JO $92UDYD 8y} 81D IDUYM ‘]

slaquinuusAsUD — 39D 3MO[oq Ul AllIqOgoId UOIDDI) SUJ UO 1) 1l [IM 8J8UM O-0 10 3007
**BUI[|0] JO S9OUDYD By} BID JOYM ‘821p 3|BUIS D UQ P SpSY U0 PUD) [IM 11 U9 O dif | USUM "0
&laquunu pPPOo UL UO BUIpUD) JO S8OUDYD 8Yj 810 DYM ‘] “SWoX8 AW 10} Yyonul ApNis 0} 8ADY LUop | ‘g

*MOLIOWO} UIDI [[IM }| "D
39|02S 8yl U0 asayl ind NOA [Im 818y

3UO PUD| O] 82UPYD ISS[|OWS 8Y1 SBY Jagquunu IDYm ‘o

=y uIpged 22UDYD UBAS a|qissodwi
_ | ! |

= f T 1
€ D Ao 5 Aexun q

*SIY} DI 00| UDD 3PS AYjIgpgoid ay] :uoISIADY

¢J1auuids ayj uo Jaquinu yona uo Huipupj jo Apjigngoid ayj st jpym ‘¢

w \J
hﬁ '*H*H’ _

¥ K K K]
wsaasaua

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 44




AL 8B

2019/06/29 19:10:41

‘obpjuadiad D SO I SHIM W SI UMOP
"Io9A opIs paisling @c_bco_ IS0} 8y} Jo >+___QOQOLQ 2yl |oy} ajpwise alojaiay} p|nod aH

JX8U JOQUISAON Ul UO UIDJ [IIM } JoY} Apiqogold ey ojowiys3 104 JSD| JogUISAON Ul SADP Q| UO paulpl j|
ApAROY % S| ‘UMOP BpIs palaling @c_bco_ 1S00J 8y} Jo >oc®3_o®t BAllD|a) By

'SSWI} 0T UMOP 3pls paIsjng spubj §i joy}
S9AISSCO PUD sawWl 0§ §SPO} paldyng jo 823id b sdoip sy paddoip usaym umop
apis palsyng spupj jspo} oy} Agjiqogoid sy appwiysa pup Alj 0 SOpPIdAP Jdjdd ‘L

‘obpjusdIad D SO §I SIUM )
}NO PBIUDD BID S|} BIOW JI BIDINDID BIOW SBWOD] AHIqPA0Id JO S1DWISS By

‘PapPULY-1a| Buieg WOopUDI {0 USSOYd

uosiad Aup Jo Aligogold sy} a1owiisy ‘Papuby-1a| 81om Aay} pips sjdoad INo4
‘papupy-jybu 1o papuny-ys| a1om Ay} 1syjpym ajdoad g padsp upor

‘Aouanbaly a1 8y} BulpINDIPD AQ BWODINO IDINDIKDA D JO ANIGOGOId BY} 8IDWIISS UDD SM

w

SjoL} JO JaquiNu (04O}
S|oLY [NJSSO2INS JO JSqUINU

= Aduanbalj aAloIeY

"obnjusdied D SO JI SILUM
:DJNULIOY SIY} BUIsN 8WODIN0 UD JO ADusnball 8AlD|eI 8} 8§DINDJ0D SM

"21p Siu} UO ¢ Bueb Jo Ajiapaold ey ejowiys3 Aouanbaiy snyoiey

‘SOWIl} GZ PAUNDD0 ¥ dY| a
: *= 51 BuluUIM SUOIT 8y} JO Aouanbal) oAl BY4 oY} ADS O M

‘SOW 0G 1 P3JI0) SOM 3P P3PIS-XIS V ‘p 4
‘AHjigpgold 8y} JO 9joWiise Up §i 41 ing ‘Buiuuim suor Jo Aljigogold [pnown Syj Jou S| UoLODY SIYL
OM_ = % $I UDIYM “UOIODI) O SD SIUJ SJLM UDD S "S8YDI0W G 8Yl JO GE
‘obojusdied 0 SO I SJLIM UOM SADY SUOIT S} I} O “YDJ0UI JXOU SU} UIM [[IM SUOIT 8} 10U AHIGDG0Id Sy} 91DWIISS Of JUDM SM
*,.dn juiod, Buipup| uid-Buimpblp sy} o Aljgogold “SOWI SAI) UMDIP SADY SWDS} 84} PUD ‘SSULL GE UOM SADY SUOI Y ‘Sowl}
By} aipwiisy “sewilt 6z ,dn uiod, spupj i pupo sawiy 00| uid Buimbip o sdoip uyor 01 UOM ©ADY SIOWIDM 8YL "SaWIL 0 J8YL0 Yona {SUuIoBo peAn|d 8ADY SWDS) SUOI PUD SIOLIOM 8YL
‘paddoip uaym ,umop juiod, 1o .dn juiod, pupjupd uid BuimbIp ¥ ¢ 1] 9|dwpx3

‘N0 PBLIDD BID

Buluuim Jo ANigogold 8y} 81PWISS Of SHNSSI 8SaY} 8SN PUD SSYDIOU JDILUIS Ul SHNSSI
sNoIABId 1D %00| UDD am INg ‘Aja| AjlIoNba 810 MDIP PUD 8SO| ‘UIM JoY} BuiluNsso

AQ Y2JoW 19220Ss B Buluuim JO AHIgoaoid 8yl 1NO FIOM JOUUDD NOA ‘B|duDXS 104

‘obpjusdlad D SO Il SIUM

‘PasSO} S| UI0D 8yt USUM [ID} o
"P8ssS0} S UI0D 8y} UM poay “uolNHS BYL 1D BUMo0] 1SNl AQ PaLLINDIDD 87 1O0UUDD SalLjIgpgo.Id awWos

Buiuiigo Jo Aligrgold syl a1pwise

‘s|Nsal 18y BuISN'S|IDL GE PUD SPOBY G9 S18B 8YS "Sawl 00| UIOD D $8550} 01DIST
‘suoysanb Buimojjo} sy} JIamsuy g

"appW S|PUY JO JIaquinu 8yl Ag papiAlp suaddoy
JUBAS B} saWly Jo Jequinu ay} s Buluaddoy juaas up Jo Asuanbaly aAypal 8y

:BUIMO||0§ B} SSNISIP PUD PPIY

W‘v _ -oBpjus0Ied D SO S} SHIM
XA B
KK KK

5

w \J
hﬁ .*H*Hi n K

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 45




AL 8B

3UDJ0W {X8U U} UM [|Im WDB} AQBNI/I8220S $,|00UDS INOA JDU} AlIIGRC0Id 8U} S| IOUM

Aynoy

{insey

) —

o) 2 2

< 10) 5
0
L
@
€
14
9
9

Aousnbaly

"Y4DW XU JISY UIM [|IM WDS} 1Y oy} Aiggold ayy apouys3
4] 0S WD} J9ID0S S| 10j SNSSI §,U0SDIS DY} MOYS O} DY IDQ D SMDIP PIAD] ‘T
1

QNN

o
¥ %

Rs##s

's{nsal INOA a10dwod
PUD AHAILOD SIY} O 9 UO saWil} 8Z PSPUD] | 'SOWI} 0G| SIP PPIS-XIs O PSJ[0J NOA "D

*S|INSa1 INOA
2I0dWOD PUD AHAILOD SIYL OQSOWIL ZG S|I0L UO PapuUD| 4] “SeWll 0z UI0D © passoy | g

3Aouanball 8AID|S1 BYL SOM IDYM “SaullL
4€ OPIS PaIBKNG By} U0 PaPUD §| “Sowl 08 SO0} palaiing Jo 82a1d b paddoip NOA O

‘%9 = %LT = %EE
sI Aouanbaiy aAypIa1 8y} pup Apjigpgoid syl Usamiaq 8oUBIBHIP SUL

oo £ _ 9
bEE ==
£92Ip pspIs-Xis O
LT = $ uo g uo Buipupy Jo Aljigogold syl S IDYm
TUOBURUDL oy gos  gos gy 0

11 Jo Aouanbal} aAlD|al | _ _ _ _
SY} SHPYM "¢ Uo sswll} /g _ _ ; _ _

umoco:_.mmezoo_mo_no
pa|[|0J pUSLY INOA PUD NOA

Aouanbayy aAyp|oYy Ajngngold

¢Aouanbayy aAlpla1 3y} pup Ajjigpqoid sy} usamiaq 9ouUaISHIP au} I IPYM

ADUSNDIUNDNIIB|S4 PUB ALI|IGRGOUY

2019/06/29 19:10:43

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 46



AL 8B

'SOOULISYIP
PUD SSILD|IWIS 8Y} UMOP SIUM “SPUSU) NOA Yiim Swiajqold BUIAIOS JO SPOYIdW INOA aipdwo)

Apaoy

‘Buiajos wiajqoid uo sdif 210W M3y D UMOP SJLIM ‘swidjqoid mau om} ay; Bulop Jayy ‘v

3paAn|d 8y SoWDB SAIINDBSUOD JO

Jaquinu 8y} Ul aspaioap abpjuadiad 8y} S IDYM ‘SBUDB SAIINDSSUOD G| JBYjoun

paApn|d usyy aH ewpb s|buls 8UO BulAp|d Passiw PUD JBaswiy palnlul 8y usy]
‘PI9Y 3y} Jo uaip} Buiaq jnoypm Aqbni jo sswpb aAndasuod gg paAnid oydis ‘¢

‘ubis sjonba U AQ PEMO]|0} “ISilk A UM UoDNDS UD SO JoMSUD INOA 1M

‘A pauip3|

s)da2u0d Mau Jo JIaquinu |P}O} SY} PUD X SUOSSI|

JO $j99M 3y} usamjaq diysuoyp|al Sy} SMOYs

oy} uoypnbd uD SjIM ‘SUOSSS]| SOYDWSYDW JO
)99M YoD9 5jd92U0d MBU OM} SUIDI| PIDYDLY T

0 M I

T A - T R -

*abpd snoiraid ayy -
uo Buiajos swiajgoud
uo sdij sy} asn :diy

O Ko
Pyl

P B

]

- sosuodsal (.

3109100
14141935 0} %0942

| UDD MOY ‘JoMSuD SIy} 8500Yd
up Buieb ey NoA pIp AYm
‘slaqunu
*INO §1 AJ| 595U8S SPW JOMSUD INOA $80(Q USPPIY pup sisquinu Ay 8|01
‘ swa|qoid

sy} BuiAjos Ul .
papaau jou s
UOIOULIOUI JOUM
‘slequinu “slaquunu “slequinu

UspPIY PUD Slequinu AsY 8joi) UBPPIY PUD Slaquinu AsY 8joi) UpPIY PUD Siaquinu AsY o)

SOl ‘8|qP} Wl 4O sjO|
‘1onpold 4o sdnolf ‘Aldinu

]

swajqoud sy}

1N0gD JaqUIBWAI . ! L swa|qoid
NnoA pinoys Ad pajdiinu :uoyoojdijnu sy} Ul o} Buoo]
UOLOULIOJU JOUM 10} SPIOM ASY SUWIOS SID SI9H " hok aio Hc M

slaquinu
usppIY puD siequinu Asy 8jo11D

'SPIoM A8y BUL 8[DI1D) | “Uolisenb 8y} SUlapuUN pUD POy

*JOMSUD INOA
YHM Jl 210dwioDd) | Ul JSMSUD INOA 1D 3O0g 300] SIy} Buipnal Jajy swajqoid SA|0S O}
Aom D puy NOA diay Abw suonsenb ay] “suejqold BuiAjos Uo Alowiwins siyt ybnoayt 09

‘wia|qoid D SA[OS [|IM NOA MOY UO sdajs UMOpP SJUM °L
*SWIS|qOId SWIOS SA[OS [IM NOA 9G | PUD GG | 188USHIOM U|

‘SolpWaYoW
Ul [|oM Op O} JUDM NOA JI |88} PINOYS NOA MOY ADS ‘ALIAILDD SIY} BUIOP JalY

2019/06/29 19:10:45

o~
<+
=
=]
E
=
O
=
=
=
2
=)
o
™
<
o
g
g
=
B
-
m
©~
>
¢}
o
=
B
<
=




2019/06/29 19:10:46

'S9OUBIaHIP
PUD SSLIDJILUIS U} UMOP SJLM SPUSHY NOA YliM SWajqoid piom D BUlDaID JO spoyiew INoA 8i0dwio)

s|Ipjs BuiAjos wiajqoid

wiajgoid pIlom 8|qIssod ‘o

wie|qo.d piom 8|issod ‘q

1 ‘wie|qoud »
Sy} JO Jxou0d
ay} abupy) :di

\

wa|goid plom 8|qissod 'q ws|goid plom 9|qIssod ‘o

"3 #90°0 10 13}bM W {9 32p|dsIp

1IIM (WD 79 SI by} o3[qo uy :juswaypis ayj UsAID uaym swajqoid piom om} ajpal) ‘¢ " Ag i ejpaId fim | o

‘swiajqoid piom 9|qissod om} SAID ¢ W §Z'QE Jamsub Buimojjo} au}
UM wis|qoid piom D 3jp31d NOA [IM MOH °NOA 0O} USAID si Jamsup ayj Ajuo suibow °|

*SpUBLY INOA UM Jomsup INOA a10dwo)

210U Aym

10 AUm sAom Bwps
By} ul wsjqoid o A0S
SADM|D SPUSLY OM} OQ

‘wd|qoid D DA[OS [|IM NOA MOY SPIOM UMO INOA U] SSUDWWING :UOISIADY

: wie|goid plom 8|qissod 'q wa|gold plom 8|qissod '
— |.*.

“‘f

"# #**## x = BuiAesWR|geid ue NS GE |

KOO e
|

QT + X7 :JuSWD}s Y} USAIB usaym swajqoid pIOM OM} 3JpaI) T

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 48




{MOU puD}sIapuUN NOA Op JPYM

NOA JOU} MOU PUDJSISPUN NOA JDYM SPUSLY I0/PUD I8UDD3} INOA UM SIDYS ‘183USHIOM Sy} BUIOP Jajly

*810J8Q pUDISIEPUN },UPIP

SODWSYOW [DIDUDUIY

siaquinu jo sasadolg

$10}o0} pup sajdyinw

#‘f

s1abaju|

o
##

\Mﬂi

ORI, I I P

]
e

2019/06/29 19:10:48

sjuauodxy

siaquinu 3joyMm

PUD S8J0U UMO INOA 30w pub 8A0gpo 21doy Jad sjoaysyiom sy} [|o ybnoldyl 09 |

‘s9jou pup Aipwwins Ay

01'6'8°2'9°01Y | SoubwWayow [orounu
'l | slequinu jo seiadold
SY'eTd | $I0§00f PUD sO|AlINW

SLYL'ELTLIL'9Y
'SUOHOD [PWId3Q

0£'69'89'£9'99'59'GY
:SUOI}ODI) UOWIWOD) SUOIODI
ARANTRY siebayu|

sjusuodxy ™

9/'9C'ST
YT'ETTTITOT 618l LISV L'EY
Sy L slequinu 8j0ym
ON | S9A —
¢Hoddns sydasuod
pasu diysuoypiai pup
noA oq siaquinu J9sys)Iom suoypiado ssquinN

IFRARMIINIRDNOIUBISINDY

‘ou 10 S3A X211

‘Aowwins

“Jom
INOA 8SIAS1 PUD
0B o} a1eym uo
UolDWIOUI NOA

SAIB (M BIGR4 SIUL

\

‘sdiysuonp|al
pup suolpiado
‘Jaquinu 8sIA81
o} Buiob aIp am
108USLOM SIU} U

sdiysuoypi|al
pub suoypiado
‘1aquinN

-
»iiid!
LD

&

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 49




2019/06/29 19:10:50

*210J2q PUPJSISPUN },UPIP
NOA JOU} MOU PUDJSISPUN NOA JOUM SPUSL I0/PUD 18YD08} INOA UM SIDYS ‘UOSSS| Sy} BUISIASI JajY

{MOU puD}sIapuUN NOA Op JPYM

swiaypd ouppwoab pup duBWNN sdiysuoypjal pup suoyduny

‘Apwiuins
PUD S8J0U UMO INOA 30w pub 8A0gpo 21doy Jad sjoaysyiom sy} [|o ybnoldyl 09 |

‘s9jou pup Aipwwins Ay

“Jom
INOA 8SIAS1 PUD
0B o} a1eym uo
UolDWIOUI NOA

SAIB (M BIGR4 SIUL

\

0ZL'6LLSLLZLIGLLSLIYLL'TLY 6 sydoio
SLLITLULLLILE'9E'SEvE'Ee | suoioNnbe oIDIgebly
Ty Iy

‘0'6€'£8'98'SEYE'CLTE 1E'08'62'8Y | suoissaidxe O1Igebly
sulajpd oujewosh

8C'LT pup SuBWINN
sdiysuolp|al
0L1'601'801°£0L"901'6T' LY pup suoounyg

ON | S9A . —
BlIoM piqab|o
¢Hoddns InoA asiA31 pup ob o} PUD SUOOUN)
pasu 9I9YM Uo uoljpwiiojul ‘sussjyod ssjpel
noA oq siIaquinu }99aYs}IoM | NOA 3AIB [Im 3)qp} SIyL 0} Buiof a10 am

+99USHIOM Sy} Ul

‘ou 10 S3A X211

_##
K - _
TN

sydpio suolpnba pup suoissaidxs d1pIqab|y

CHIRARMIAINIDIACIUBISINDY

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 50

|
of

. ®

\\J

N2



.“41

‘jdasuod yons
1o} sa|dwipxa 8y AbpAIaAe swos ppy

|
*SBUIMDIP SWOS

-~ &jow o} 9o0dg

sauj| jybipys jo Apwoas

R

*sBumpbIp BW0s

2)bw 0} 8o0ds

Py

W

sjo9lqo g-¢ jo Alpwoas

Ajjpwoab uolypwiojsuniy

W

KU

SN

= oYow o} eonds

sjoalqo g- Jo Aswoasn

sainByy o12W03B Jo sUoYINIYSUOD

‘Aowwins

PUD $810U UMO INOA 83DW PUD 8A0QD 21do] Jad SI8aysyIom ayl |0 ybnoiyl 09 *|

*s9jou pup Aipwwins Ay

saull Jybious

'89'£9'99'G9'79°€9°C9" 1909

SL'YVL'EL'TL o Aljowioes

yeLeeL'ce sjoelqo
L'lerogt’écl'sel el a-¢ 4o Aijewiosy
9Tl Aljowosb

AR AR AR/ANTARAR! UOIOWIOSUDI]
1£'0L'69 sadoys

a-¢ Jo Ajouwosn

sainBiy oupowosb

66'8G9°/6'95"1 1Y JO UOONISUOD
oN s=A (Ayowi0aB)
¢Hoddns pasu noA oq slaquinu JasysIom | 99pds pup adpys

(Aippwioah)

S V) NI WISIACKE o tddd N
-wsJ}

‘ou Jo s9A 21l 99pds pup adpyg

v

ndW

L
_ *SBUIMDIP BWOS

—
0
S
=
N
-
N
I
=
)
S
=
=N
—
1)
Q

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 51



2019/06/29 19:10:53

*910J2Q PUD|SIOPUN },UpIp
NOA JOY} MOU PUDJSISPUN NOA JOYM SPUSL JO/PUD J8YDD8} INOA UM SIDYS ‘UOSSS] SIy} BuIsIASI Jo |y

{MOU puD}sIapuUN NOA Op JPYM

L
— *SBUIMDIP BWOS

= oYow o} eonds

*}da2u02 Yyopa Joj sajdwpxd 3| |P3I SWOS PPY ‘T

sadbys g-g Jo Jajawiad pup paly

‘Aowwins
PUD $810U UMO INOA 830U pUD 9A0QD 21d0} Jod S1oaysyiom ay} |0 ybnoiyi 09 |

*s9jou pup Aipwwins Ay

‘sBumpbIp sWo!

= o)pw o} 8o0pdg ’

$}09[q0 O-¢ JO SWIN|OA
16'06'68'88°/8'G 1Y pun aIb 820UNS
16'06'68'88'/8'98 sodoys g-¢
‘G8'78'€8'T8'18'08'6L'8L'LL Y 1Y | 10 JojouILSd pUD DaNY

ON S9A

¢Hoddns

paau noA oq slaquinu }93ys)Iom juswiainspaw

‘ou Jo sa4 211 juswiainspayy

7 WIS VN WeSIACE] (44|

J.ﬁ H*H*N‘ i 1._.:. A

I

_##
K Ko
S

$}02[00 @-C JO DWIN|OA PUD DIID BIDNG

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 52




2019/06/29 19:10:55

*910J2q pupjsiopuNn
1,UPIP NOA DY} MOU PUDISISPUN NOA {OYM SPUSLY JO/PUD JSUYI08} JINOA UM SIDYS ‘UOSSS| SIU} BUISIASI oY

{MOU puD}sIapuUN NOA Op JPYM

v . -

*$940U BI0W IO SBUIMDIP
BWOs 8yoW 04 8o0ds

‘Bujpuny pjop jo sajdwpxa o)) AbpAISAS dwWOS ppy ‘T

pyop juasaiday |  bjop SsUDWIWNS pup dZIUPBIO }93[[0D

‘AIpwiuins
PUD S8J0U UMO INOA 30w pub 8A0gp 21doy Jad sjoaysyiom sy} [ ybnoldyl 09 |

‘s9jou pun Aipwiwins Ay

8eL'LE1'9E1SEL Atigogold
piop Hodal pup

'$9}0U 8J0W JO SBUIMDIP

= owos xow o} 8o0ds yOL'€0L’LOL'001'66'L6'96'G6'76 feidiajul ‘esAjouy

voL'e0l

‘01101001 '66'86°L6'96'56'76 p}op jussaidey
bjop
asuoWIWINS pub
yOL'€01'20L'e6'T691d azlupbio *}29]10D

ON | soA

¢Hoddns
paau noA oq siaquinu Jaays)Iom Bulpupy bjpq

*0U 10 s34 X211 Bujpuby bjpq

S I SRV WISIACKE o L AA !

J.ﬁ H*H*N‘ i 1._.:. A

_##
K Ko
S

Ajignqgoid pjpp podal pup jaidisjul ‘asA|puy

MATHS Gr7 Bl Theme 4 2pgsonlpg.indd 53






